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DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com.(F&C) DEGREE 
EXAMINATION, MAY 2025. 

First Semester 

MANAGEMENT CONCEPTS 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define management. 

 ÷©»õsø©ø¯ Áøμ¯ÖUPÄ®. 

2. What is planning? 

 vmhªhÀ GßÓõÀ GßÚ? 

3. Define budget. 

 ÁμÄ ö\»Ä £mi¯À Áøμ¯ÖUPÄ®. 

4. Write the types of organization. 

 Aø©¨¤ß ÁøPPøÍ GÊx[PÒ. 

5. What do you mean by delegation? 

 ¤μv{vzxÁ® GßÓõÀ GßÚ? 

6. What is staffing? 

 £o¯õÍº {¯©Ú® GßÓõÀ GßÚ? 
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7. Write the types of communication. 

 uPÁÀ öuõhº¦ ÁøPPøÍ GÊx[PÒ. 

8. How importance of controlling in an organization? 

 J¸ {ÖÁÚzvÀ Pmk¨£kzxÁuß •UQ¯zxÁ® GßÚ? 

9. Mention two characteristics of direction. 

 vø\°ß Cμsk £s¦PøÍU SÔ¨¤k[PÒ. 

10. What is a management audit? 

 J¸ ÷©»õsø© uoUøP GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) What is management and write its scope of 
management? 

   ÷©»õsø© GßÓõÀ GßÚ? Auß ÷©»õsø© 
÷|õUPzøu GÊx[P. 

Or 

 (b) State the evolution of management. 

   ÷©»õsø©°ß £›nõ© ÁÍºa]ø¯U TÖ[PÒ. 

12.  (a) What is the process of planning? 

   vmhªhÀ ö\¯À•øÓ GßÚ? 

Or 

 (b) How the policies frame in good organisation? 

   |À» Aø©¨¤À öPõÒøPPÒ GÆÁõÖ 
ÁiÁø©UP¨£kQßÓÚ? 
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13.  (a) Define organization. Write the nature of 
organisation. 

   Aø©¨ø£ Áøμ¯ÖUPÄ®. Aø©¨¤ß ußø©ø¯ 
GÊx[PÒ. 

Or 

 (b) What are the important points consider for 
delegation of authority? 

   AvPõμ¨ £QºÄUS P¸zvÀ öPõÒÍ ÷Ási¯ 
•UQ¯©õÚ ¦ÒÎPÒ ¯õøÁ? 

14.  (a) What are the barriers of communication? 

   uPÁÀ öuõhº¦UPõÚ uøhPÒ GßÚ? 

Or 

 (b) State the principles of directing. 

   C¯UPzvß öPõÒøPPøÍU TÖ[PÒ. 

15.  (a) Define management audit how differ from statutory 
audit? 

   ÷©»õsø© uoUøPø¯ \mh¨§ºÁ 
uoUøP°¼¸¢x GÆÁõÖ ÷ÁÖ£kQÓx Gß£øu 
Áøμ¯ÖUPÄ®? 

Or 

 (b) How business ethics helps in a business? 

   ÁoP ö|Ô•øÓPÒ J¸ ÁoPzvÀ GÆÁõÖ 
EuÄQßÓÚ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different types of organisation. 

 £À÷ÁÖ ÁøP¯õÚ Aø©¨¦PøÍ ÂÍUS[PÒ. 
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17. Explain the components of planning in relation to 
organizational objectives. 

 {ÖÁÚ ÷|õUP[PÐhß öuõhº¦øh¯ vmhªh¼ß 
TÖPøÍ ÂÍUS[PÒ. 

18. Discuss the different types of functions of 
departmentation. 

 xøÓ°ß £À÷ÁÖ ÁøP¯õÚ ö\¯À£õkPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

19. Explain the Maslow’s hierarchy needs of motivational 
theory. 

 ©õì÷»õÂß FUPU ÷Põm£õmiß £i{ø»z ÷uøÁø¯ 
ÂÍUS[PÒ. 

20. Discuss the factors offering business ethics. 

 ÁoP ö|Ô•øÓPøÍ ÁÇ[S® PõμoPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

 

 

  

———————— 
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DISTANCE EDUCATION 

M.Com. DEGREE EXAMINATION, MAY 2025. 

First Semester 

MANAGERIAL ECONOMICS 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define managerial economics. 

 ÷©»õsø©¨ ö£õ¸Î¯À Áøμ¯Ö. 

2. What is the break-even analysis? 

 •ÔÄ& \©{ø» £S¨£õ´Ä GßÓõÀ GßÚ? 

3. Describe the demand schedule. 

 ÷uøÁ AmhÁøn GßÓõÀ GßÚ? 

4. What are the methods of demand forecasting? 

 ÷uøÁ •ßPo¨¦ •øÓPÒ GßÚ? 

5. Enumerate the business cycles. 

 ÁoP _ÇØ] ÂÁ›. 

6. What is national income? 

 ÷u]¯ Á¸©õÚ® GßÓõÀ GßÚ? 
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7. Define per capita income. 

 uÛ|£º Á¸©õÚ® GßÓõÀ GßÚ? 

8. What is the MRTP Act? 

 HP÷£õP ©ØÖ® Pmk¨£kzu¨£mh ÁºzuP |øh•øÓPÒ 
\mh® ÂÁ›. 

9. Define cost-volume-profit (CVP) analysis. 

 ö\»Ä & AÍÄ & C»õ£ £S¨£õ´Ä GßÓõÀ GßÚ? 

10. What are the causes of a depression? 

 ©¢u{ø» HØ£kÁuØPõÚ Põμn[PÒ ÂÁ›. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Explain the nature and scope of managerial 
economics. 

   ÷©»õsø©¨ ö£õ¸Î¯¼ß C¯À¦ ©ØÖ® £μ¨¦ 
ÂÁ›. 

Or 

 (b) What are the benefits of FDI for a host country like 
India? 

   C¢v¯ |õmiØS A¢{¯ ÷|μi •u½miß |ßø©PÒ 
GßÚ? 

12.  (a) Explain the following pricing strategy 

  (i) Penetration pricing 

  (ii) Skimming pricing. 

   ¤ßÁ¸® Âø» {ºn¯ EzvPøÍ ÂÁ›. 

  (i) Fk¸ÁÀ Âø» {ºn¯® 

  (ii) ÷©÷»õmk Âø» {ºn¯®. 

Or 
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 (b) How does product line pricing impact consumer 
perception? 

   u¯õ›¨¦ Á› Âø» {ºn¯® ~Pº÷Áõº EnºøÁ 
GÆÁõÖ £õvUQÓx? 

13.  (a) What are the techniques available for demand fore-
costing? 

   ÷uøÁ •ßPo¨¦ •øÓPÎß ~m£[PøÍ ÂÁ›. 

Or 

 (b) Explain the impact of business cycle on the 
organization. 

   {ÖÁÚzvÀ ÁoP _ÇØ]°ß uõUPzøu ÂÍUSP. 

14.  (a) Discuss in detail about Cobb-Douglas production 
function. 

   Põ¨&hUÍì EØ£zv ö\¯À£õmiøÚ Áøμ¯Ö. 

Or 

 (b) Define monopolistic market and discuss its features. 

   HP÷£õP \¢øu ©ØÖ® Auß •UQ¯ A®\[PøÍ 
ÂÁ›. 

15.  (a) Compare the cost-output relationship in the short 
and long-run. 

   SÖQ¯ ©ØÖ® }sh Põ» ö\»Ä EØ£zv EÓÄPøÍ 
J¨¤kP. 

Or 

 (b) What is breakeven analysis? Explain relevance of it 
in the business. 

   •ÔÄ&\©{ø» £S¨£õ´Ä GßÓõÀ GßÚ? 
ÁoPzvÀ Auß ö£õ¸zuzøu ÂÍUSP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the nature and scope of managerial economics 
and examine its relationship with other discipline. 

 {ºÁõP¨ ö£õ¸Íõuõμzvß ußø© ©ØÖ® ÷|õUPzøu¨ 
£ØÔ ÂÁõvUPÄ® ©ØÖ® ¤Ó xøÓPÐhß Auß EÓøÁ 
Bμõ¯Ä®. 

17. What is the role of the Competition Commission of India 
(CCI) in controlling monopolies? 

 HP÷£õP[PøÍU Pmk¨£kzxÁvÀ C¢v¯¨ ÷£õmi 
Bøn¯zvß (CCI) £[S GßÚ? 

18. How does behavioral economics influence managerial 
decision-making? 

 |hzøu ö£õ¸Íõuõμ® {ºÁõP •iöÁk¨£vÀ GÆÁõÖ 
uõUPzøu HØ£kzxQÓx? 

19. How does the Competition Act, 2002 differ from the 
MRTP Act, 1969? 

 MRTP \mh®, 1969C¼¸¢x ÷£õmia \mh®, 2002 
GÆÁõÖ ÷ÁÖ£kQÓx? 

20. What are the future trends in anti-monopoly regulation 
in India? 

 C¢v¯õÂÀ HP÷£õP Gvº¨¦ JÊ[S •øÓ°ß GvºPõ»¨ 
÷£õUSPÒ GßÚ? 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com.(F&C) DEGREE 
EXAMINATION, MAY 2025. 

First Semester 

ADVANCED ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define in the term accounting. 

 PnUQ¯À ÁøμÂ»UPn® u¸P. 

2. What is trial balance? 

 C¸¨£õ´Ä GßÓõÀ GßÚ? 

3. What is double entry system? 

 Cμmøh £vÄ •øÓ GßÓõÀ GßÚ? 

4. What is meant by sole trading? 

 uÛ¯õÒ ÁoP® GßÓõÀ GßÚ? 

5. Define the term bill of exchange. 

 ©õØÖa^mk ÁøμÂ»UPn® u¸P. 

6. What is account current? 

 |øh•øÓ PnUS GßÓõÀ GßÚ? 
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7. What is receipts and payment account? 

 ö£ÖuÀ ö\¾zxuÀ PnUS GßÓõÀ GßÚ? 

8. What is depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

9. Who is consignor? 

 AÝ¨¥k ö\´|º Gß£Áº ¯õº? 

10. What is minimum rent? 

 SøÓ¢u £m\ ÁõhøP GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Redraw correctly the trial balance given below. 

 Debit balance Credit balance

Capital – 15,560

Sales – 27,560

Sales returns – 980

Drawings a/c 5,640 –

Sundry debtors – 5,300

Freehold premises 7,410 –

Purchases 12,680 –

Returns outwards 2,640 –

Loan from Sharma – 2,500

Sundry creditors 5,280 –

Administration expenses 7,840 –

Cash in hand 1,420 –

Bills payable 1,000 –
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 Debit balance Credit balance

Wages 5,980 –

Opening stock – 2,640

Factory expenses 4,650 –

 54,540 54,540

   R÷Ç öPõkUP¨£mkÒÍ C¸¨¦a ÷\õuøÚ¨ 
£mi¯ø» \›¯õP ©ÖÁøμÄ ö\´P. 

 £ØÖ ¹. ÁμÄ ¹.

•uÀ – 15,560
ÂØ£øÚ – 27,560
ÂØ£øÚ v¸¨£® – 980
Gk¨¦ 5,640 –
PhÚõÎPÒ – 5,300
L¨Ÿ÷íõÀk ¥›ªéì 7,410 –
öPõÒ•uÀ 12,680 –
öÁÎzv¸¨£® 2,640 –
\º©õÂhª¸¢x ö£ØÓPhß – 2,500
PhÜ¢÷uõº 5,280 –
{ºÁõP ö\»Ä 7,840 –
øP°¸¨¦ öμõUP® 1,420 –
ö\¾zxÁuØS›¯ ©õØÖa^mk 1,000 –
T¼ 5,980 –
öuõhUP \μUQ¸¨¦ – 2,640
öuõÈØ\õø» ö\»ÄPÒ 4,650 –

 54,540 54,540

Or 

 (b) Describe the scope of accounting. 

   PnUQ¯¼ß ÷|õUP® £ØÔ ÂÁ›. 
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12.  (a) Journalise the following transactions. 

Jan 1 2016 Commences business with Rs. 50,000

2 2016 Cash purchases Rs. 15,000 

6 2016 Cash sales Rs. 10,000 

8 2016 Purchased machinery Rs. 15,000 

10 2016 Salary paid Rs. 30,000 

   ¤ßÁ¸® |hÁiUøPPÐUS SÔ¨÷£k u¸P. 

áÚÁ› 1 2016 öuõÈÀ öuõh[P¨£mhx ¹. 50,000

2 2016 öμõUP öPõÒ•uÀ ¹. 15,000 

6 2016 öμõUP ÂØ£øÚ 10,000 

8 2016 C¯¢vμ® Áõ[Q¯x ¹. 15,000 

10 2016 \®£Í® öPõkzux ¹. 30,000 

Or 

 (b) What are the differences between the balance sheet 
and statement of affairs? 

   C¸¨¦{ø»U SÔ¨¤ØUS®, {ø»¯ÔUøPUS® EÒÍ 
÷ÁÖ£õkPÒ ¯õøÁ? 

13.  (a) Kannan purchased goods from Raman the due date 
for payment in cash being as follows 

March 15 1000 Due on 18th April

April 21 1500 Due on 24th May 

April 27 500 Due on 30th June

May 15 600 Due on 18th July 

  Raman agreed to draw a bill for the total account 
due on the average due date. 
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   Psnß Cμõ©Ûhª¸¢x ö£õ¸mPøÍ Áõ[QÚõß 
AÁº £n® ö\¾zu ÷Ási¯ uÁøn •iÁøμ²® 
|õmPÒ ¤ßÁ¸©õÖ. 

©õºa 15 1000 •uºÄ |õÒ H¨μÀ 18

H¨μÀ 21 1500    ”                 ÷© 24 

H¨μÀ 27 500   ”              áüß 30 

÷© 15 600    ”            áüø» 18 

  Cμõ©ß AøÚzx öuõøPUS® ©õØÖa^mk GÊv 
\μõ\› uÁøn |õÎÀ £n® ö\¾zv ÂkÁuõP 
Ehß£iQÓõº GÚ öPõsk \μõ\› uÁøn |õÎøÚ 
PnUQkP. 

Or 

 (b) Differentiate between a bill of exchange and 
promissory note. 

   ©õØÖa^mkUS®, ÁõUSÖv ^mkUS® EÒÍ 
÷ÁÖ£õmøhU TÖP. 

14.  (a) An asset is purchased for Rs. 50,000. Depreciation is 
to be provided annually according to the straight 
line method. The useful life of asset is 10 years and 
the residual value is Rs. 10,000. You are required to 
find out the rate of depreciation. 

   J¸ ö\õzx ¹. 50,000US Áõ[P¨£kQÓx. Bsk 
÷uõÖ® ÷|º÷Põmk •øÓ°À ÷u´©õÚ® 
PnUQh¨£kQÓx. ö\õzvß ÁõÌ|õÒ 10 BskPÒ 
©ØÖ® «u•ÒÍ ©v¨¦ ¹. 10,000 BS®. ÷u´©õÚ 
ÂQuzøu Psk¤i.           

Or 

 (b) Write difference between straight line method and 
diminishing balance method. 

   ÷|º÷Põmk •øÓUS®, SøÓ¢uö\À ©v¨¦ 
•øÓUS® EÒÍ ÷ÁÖ£õkPÒ. 
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15.  (a) From the following details ascertain the amount of 

subscriptions to be credited to income and 

expenditure account for the year 2019. 

  Subscription received in 2019 Rs. 48,000 which 

include Rs. 4,000 for 2018 and Rs. 8,000 for 2000. 

Subscription due but not received at the end of the 

year 2019 were Rs. 20,000. 

  Subscriptions received in 2018 in advance for 2019 

were Rs. 12000. 

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Á¸©õÚ® ©ØÖ® ÁμÄ 

øÁUP¨£k® \¢uõUPÎß AÍøÁU PshÔ¯Ä® 

2019B® BsiØPõÚ ö\»Ä PnUS. 

  2019CÀ ö£Ó¨£mh \¢uõ ¹. 48,000 CvÀ ¹. 4,000 

2018 ©ØÖ© 8,000 ©ØÖ® 2,000US 2019 B® 

Bsiß CÖv°À ö£Ó¨£hõu \¢uõUPÒ ¹. 20,000, 

2019B® BsiØPõÚ •UTmi÷¯ 2018À 

ö£Ó¨£mh \¢uõUPÒ ¹. 12,000 BS®. 

Or 

 (b) Distinguish between receipts and payment A/c and 

income and expenditure A/c. 

   ö£ÖuÀ ©ØÖ® ö\¾zxuÀ P/S ©ØÖ® Á¸©õÚ® 

©ØÖ® ö\»Ä P/S BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. The following balances were extracted from the ledger of 

Ramakrishna engineering works on 31st March 1997. You 

are required to prepare a trial balance as on that date in 

proper form. 
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Drawings 6,000 Salaries 9,500

Capital 24,000 Sales returns 1,000

Sundry creditors 43,000 Purchase returns 1,100

Bills payable 4,000 Travelling expenses 4,600

Sundry debtors 50,000 Commission paid 100

Bills receivable 5,200 Trading expenses 2,500

Loan from Karthik 10,000 Discount earned 4,000

Furniture and fixtures 4,500 Rent 2,000

Opening stock 47,000 Bank overdraft 6,000

Cash in hand 900 Purchase 70,800

Cash at bank 12,500 Sales 1,28,000

Tax 3,500   

 31.3.1991 AßÖ μõ©Q¸ènõ CßâÛ¯›[ £o°ß 
÷£÷μkPÎÀ C¸¢x ¤ßÁ¸® ÂÁμ[PÒ 
GkUP¨£mkÒÍÚ. A¢u ÷uv°À \›¯õÚ £iÁzvÀ }[PÒ 
C¸¨£õ´Ä u¯õº ö\´P. 

Gk¨¦PÒ 6,000\®£Í® 9,500

•uÀ 24,000ÂØ£øÚ v¸¨£® 1,000

£Ø£» PhÜ¢÷uõº 43,000öPõÒ•uÀ v¸¨£® 1,100

ö\¾zxuØS›¯ ©õØÖa ^mk 4,000£¯na ö\»ÄPÒ 4,600

£Ø£» PhÚõÎPÒ 50,000PÈÄ ö\¾zv¯x 100

ö£ÖuØS›¯ ©õØÖa^mk 5,200Â¯õ£õμ ö\»ÄPÒ 2,500

PõºzvUQhª¸¢x Phß 10,000PÈÄ ö£ØÓx 4,000

AøÓP»ß ©ØÖ® ö£õÖzxøP 4,500ÁõhøP 2,000

öuõhUP \μUQ¸¨¦ 47,000Á[Q ÷©ÀÁøμ¨£ØÖ 6,000

øP°¸¨¦ öμõUP® 900öPõÒ•uÀ 70,800

Á[Q°¸¨¦ öμõUP® 12,500ÂØ£øÚ 1,28,000

Á› 3,500   
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17. A second hand machinery was purchased on 1.1.1990 for 
Rs. 30,000 and repair charges amounted to Rs. 6,000. It 
was installed at a cost of Rs. 4,000. On 1st July 1991 
another machine was purchased for 26,000. On 1st July 
1992. The first purchased machine was sold for  
Rs. 30,000. On the same day one more machine was 
bought for Rs. 25,000. On 31.12.1992 the machine bought 
on 1st July 1991 was sold Rs. 23,000. Accounts are closed 
every year on 31st December. Depreciation is written off 
at 15% per annum. 

 Prepare the machinery account for 3 years ending 
31.12.1992. 

 1.1.1990À £øÇ¯ C¯¢vμ® Áõ[Q¯x ¹. 30,000 
£Êx£õº¨¦ ö\»Ä ¹. 6,000. ö£õ¸zxuÀ ö\»Ä  
¹. 4,000. 1.7.1991 AßÖ TkuÀ C¯¢vμ® Áõ[Q¯x  
¹. 26,000. 1.7.1992À •u¼À Áõ[Q¯ C¯¢vμ®  
¹. 30,000US ÂØP¨£mhx. A÷u |õÎÀ ÷©¾® Tku»õP 
J¸ C¯¢vμ® Áõ[P¨£mhx ¹. 25,000. 1.7.1991À Áõ[Q 
C¯¢vμ® 31.12.1992 AßÖ ¹. 23,000US ÂØP¨£mhx. 
JÆöÁõ¸ Bsk® i\®£º 31À PnUS •iUP¨£k®. 
÷u´©õÚ BskUS 15% ÷£õUöPÊv¯x. 

 C¯¢vμU PnUS ‰ßÖ BskPÐUS 31.12.1992  
u¯õº ö\´P. 

18. Ramesh keeps his book on single entry basis prepare 
statement of affairs as on 31.10.1982 and a statement of 
profit or loss for the period ending 31.10.1982. 

Assets and liabilities 1.11.81 31.10.82

Bank balance 560 (cr) 350 (cr)

Cash on hand 10 50

Debtors 4,500 3,600

Stock 2700 2900

Plant 4000 4000

Furniture 1000 1000
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 Ramesh had withdrawn Rs. 2,000 during the year and 
had introduced fresh capital of Rs. 4,200. On 1.7.1982. A 
provision of 5% on debtors is necessary. Write off 
depreciation on plant at 10% and furniture at 15% 
interest on capital is to be allowed at 5%. 

 μ÷©è uÚx HkPøÍ JØøÓ¨ £vÄ •øÓ¨£i £μõ©›zx 
Á¸QÓõº. 31.10.1982B® |õ÷Íõk •iÄÖ® 
BskUSÔ¯ {ø» AÔUøP ©ØÖ® C»õ£ AÀ»x |mh 
AÔUøPø¯ u¯õ›UP. 

ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ 1.11.81 31.10.82 

Á[Q C¸¨¦ 560 (ÁμÄ) 350 (ÁμÄ)

øP°¸¨¦ öμõUP® 10 50

PhÚõÎPÒ 4,500 3,600

\μUQ¸¨¦ 2700 2900

ö£õÔ 4000 4000

AøÓP»ß 1000 1000

 μõ÷©è A¢u BsiÀ ¹. 2,000 v¸®£¨ ö£ØÖ 1.7.1982 
AßÖ ¹. 4,200 ¦v¯ ‰»uÚzøu AÔ•P¨£kzvÚõº. 
÷uøÁ¨£k® PhÚõÎPÐUS 5% JxURk, ö£õÔ «x 10% 
©ØÖ® AøÓP»ß «x 15% ÷u´©õÚ® ÷£õUöPÊxP. •uÀ 
«uõÚ Ámi 5% AÝ©vUP¨£h ÷Ásk®. 

19. A company leased a colliery on 1.1.92 at minimum rent of 
Rs. 20,000 merging into a royalty of Rs. 1.50 per tonnes. 
with power to recoup short working over the first four 
years of the lease. The output of the colliery for the first 
four years was 9,000 tonnes, 12000 tonnes, 16000 tonnes, 
and 20,000 respectively. Give the journal entries and 
ledger account for four years in the books of lessee and 
lessor. 
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 J¸ {ÖÁÚ® 1.1.92 AßÖ J¸ _μ[Pzøu SøÓ¢u £m\ 

ÁõhøP¯õP ¹. 20,000US SzuøPUS Gkzx Ax J¸ 

hßÝUS ¹. 1.50 GßÖ E›ø©z öuõøPø¯ Cønzx 

•uÀ |õßS BskPÎÀ SÖQ¯ ÷Áø»PøÍ Dkö\´²® 

E›ø© EÒÍx. •uÀ |õßS BskPÎÀ _μ[Pzvß 

EØ£zv 9,000 hßPÒ. 12,000 hßPÒ, 16,000 hßPÒ, 

©ØÖ® 20,000 hßPÒ •øÓ÷¯ SzuøPuõμº ©ØÖ® 

SzuøP Gk¨£ÁºPÎß |õßS BskUS›¯ SÔ¨÷£k 

©ØÖ® ÷£÷μk PnUSPøÍz u¸P. 

20. Explain the different methods of calculation of interest 

with its advantages. 

 £À÷ÁÖ ÁøP¯õÚ Ámi PnUQk® •øÓ°øÚ Auß 

|ßø©PÐhß ÂÍUSP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com.(F&C) DEGREE 
EXAMINATION, MAY 2025. 

First Semester 

BUSINESS ENVIRONMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define business environment. 
 ÁoP `Çø» Áøμ¯ÖUPÄ®. 

2. What is eternal environment? 
 öÁÎ¨¦Ó `ÇÀ GßÓõÀ GßÚ? 

3. What is a capitalist economic system? 
 •u»õÎzxÁ ö£õ¸Íõuõμ Aø©¨¦ GßÓõÀ GßÚ? 

4. Define industrial policy. 
 öuõÈÀxøÓ öPõÒøPø¯ Áøμ¯ÖUPÄ®. 

5. What is meant by privatization? 
 uÛ¯õº ©¯©õUPÀ GßÓõÀ GßÚ? 

6. Define consumer rights. 
 ~Pº÷Áõº E›ø©PøÍ Áøμ¯ÖUPÄ®. 

7. What is meant by globalization? 
 E»P©¯©õUPÀ GßÓõÀ GßÚ? 
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8. What is Foreign Direct Investment (FDI)? 

 A¢{¯ ÷|μi •u½k (FDI) GßÓõÀ GßÚ? 

9. Define IMF. 

 IMF Áøμ¯ÖUPÄ®. 

10. What is urbanization? 

 |Pμ©¯©õUPÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Explain the importance of business environment. 

   ÁoPa `Ç¼ß •UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) What is culture in business environment? 

   ÁoPa `Ç¼ß P»õa\õμ® GßÓõÀ GßÚ? 

12.  (a) Explain the social responsibilities of business (CSR) 
in business environment. 

   ÁoPa `Ç¼À \‰P¨ ö£õÖ£¦nºÄ ÁoPzøu 
(CSR) ÂÍUPÄ®.  

Or 

 (b) Mention the benefits of privatization. 

   uÛ¯õº©¯©õUP¼ß |ßø©PøÍ SÔ¨¤hÄ®. 

13.  (a) Explain the consumer rights. 

   ~Pº÷Áõº E›ø©PøÍ ÂÍUSP. 

Or 

 (b) Explain the industrial finance. 

   öuõÈØxøÓ {vø¯ ÂÍUSP. 
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14.  (a) What are the features of current globalization? 

   E»P©¯©õUP¼ß A®\[PÒ GßÚ? 

Or 

 (b) What are the merits of MNCS? 

   MNCS ß |ßø©PÒ GßÚ? 

15.  (a) Write a short note (i) IDBI (ii) SIDCO. 

   (i) IDBI (ii) SIDCO _¸UP©õP GÊuÄ®. 

Or 

 (b) Write a note on public distribution system. 

   Â{÷¯õP •øÓ £ØÔ¯ SÔ¨¦ GÊuÄ®. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the various types of environment in business. 

 ÁoP[PÎÀ £À÷ÁÖ ÁøP¯õÚ `Çø»¨ £ØÔ ÂÁ›. 

17. Explain the factors governing technological environment. 

 öuõÈÀ~m£ `Çø» BÐ® PõμoPøÍ ÂÍUSP. 

18. Explain the consumer protection Act 1986. 

 ~Pº÷Áõº £õxPõ¨¦ \mh® 1986I ÂÍUPÄ®. 

19. Discuss the International Monetary Fund (IMF). 

 \ºÁ÷u\ |õn¯ {v (IMF) £ØÔ ÂÁõvUPÄ®. 

20. What are the current issues in business environment? 

 ÁoP `Ç¼À uØ÷£õøu¯ ]UPÀPÒ GßÚ? 

  

———————— 
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MARKETING MANAGEMENT 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define marketing. 

 \¢øu°¯À Áøμ¯Ö. 

2. Who is a consumer? 

 ~Pº÷Áõº Gß£Áº ¯õº? 

3. What is branding? 

 ö£õ¸Ò P»øÁ ÷©»õsø©ø¯ GÊxP. 

4. What is physical distribution mix? 

 C¯Øö£õ¸Ò ÁÇ[PÀ Pø»øÁ GßÓõÀ GßÚ? 

5. Write the importance of advertising. 

 ÂÍ®£μ[PÎß •UQ¯zxÁzøu GÊxP. 

6. List the sales promotion tools. 

 ÂØ£øÚ ÷©®£õmk P¸ÂPøÍ ÁøP£kzxP. 
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7. Define consumerism. 

 ~Pº÷Áõ›UP® Áøμ¯Ö. 

8. Write the advantages of cooperative marketing. 

 TmkÖÄ \¢øu°¯¼ß £¯ßPÒ GÊxP. 

9. What are the limitations of e-marketing? 

 ªß \¢øu°¯À SøÓ£õkPÒ GßöÚßÚ? 

10. What is customer data management? 

 ÁõiUøP¯õÍº uÓÄ ÷©»õsø© GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Discuss clearly the modern concept of marketing. 

   |ÃÚ \¢øu°¯¼ß P¸¨ö£õ¸øÍ ÂÍUP©õP 
ÂÁõv. 

Or 

 (b) Describe the factors affecting marketing in the 
micro environment. 

   ~s `ÇÀ \¢øu°kuø» £õvUQßÓ PõμoPøÍ 
ÂÍUPÄ®. 

12.  (a) Explain a process of marketing research. 

   \¢øu°¯À B´Âß ÁÈ•øÓPøÍ ÂÁ›. 

Or 

 (b) Explain a various steps of product life cycle. 

   J¸ ö£õ¸Îß ÁõÌ|õÒ `ÇØ] Ámh® ÂÁ›. 
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13.  (a) Why some new products fail in the market? 
   \¢øu°À ]» ¦v¯ ö£õ¸mPÒ ÷uõÀÂ¯øhÁuØPõÚ 

Põμn[PÒ GßÚ? 

Or 

 (b) Write a note on the objectives of pricing. 
   Âø»°ß ÷|õUP[PÒ GßÚ Gß£x £ØÔ J¸ SÔ¨¦ 

ÁøμP. 

14.  (a) Give in detail about the channels of distribution for 
consumer products. 

   ~Pº÷Áõº ö£õ¸mPÐUPõÚ \¢øu°køP ÁÇ[PÒ 
ÁÈPÒ £ØÔ ÂÍUPÄøμ u¸P. 

Or 

 (b) What is difference between advertising and sales 
promotion? 

   ÂÍ®£μ® ©ØÖ® ÂØ£øÚ ÷©®£õk Cμsøh²® 
÷ÁÖ£kzxP. 

15.  (a) What are the advantages of cooperative marketing? 
   TmkÓÄ \¢øu°ß |ßø©PÒ GßöÚßÚ? 

Or 

 (b) State the scope of e-marketing. 
   ªß \¢øu°¯¼ß ÷|õUP® ÂÍUS. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Bring out the role of marketing in the economic 
development of a country. 

 J¸ |õmiß ö£õ¸Íõuõμ •ß÷ÚØÓzvÀ \¢øu°ku¼ß 
£[QøÚ öÁÎUöPõnºP. 

17. Explain the concept of marketing environment. 
 \¢øu°¯À `Ç¼ß ÷Põm£õkPøÍ ÂÁ›UPÄ®. 
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18. What are the factors consider for introducing a new 
product? 

 J¸ ö£õ¸øÍ öÁÎ°h® ÷£õx Pøh¤iUP ÷Ási¯ 
PõμoPÒ ¯õøÁ? 

19. Discuss the various methods of pricing. 

 Âø» {ºn°zvß £À÷ÁÖ •øÓPøÍ ÂÁõvUPÄ®. 

20. Explain different types of CRM. 

 £À÷ÁÖ ÁiUøP¯õÍº EÓÄ ÷©»õsø© (CRM) ÂÁ›. 

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define research. 
 Bμõ´a] Áøμ¯Ö. 

2. Write the characteristics of a good research design. 
 J¸ |À» Bμõ´a] ÁiÁø©¨¤ß £¯ßPÒ GÊxP. 

3. Define hypothesis. 
 P¸x÷PõÀ Áøμ¯Ö. 

4. What is primary data? 
 •ußø©¯õÚ uμÄ GßÓõÀ GßÚ? 

5. What is case study method? 
 ÁÇUS B´Ä •øÓ GßÓõÀ GßÚ? 

6. What are the objectives of sampling? 
 ©õv›°ß ÷|õUP[PÒ ¯õøÁ? 

7. Mention the sources of secondary data. 
 Cμshõ® {ø» uμÄPÎß Buõμ[PÒ SÔ¨¤k. 
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8. How do you construct a questionnaire? 

 GÆÁõÖ ÷PÒÂPøÍ E¸ÁõUSÁõ´? 

9. What is one way ANOVA? 

 J¸ ÁÈ ANOVA GßÓõÀ GßÚ? 

10. What is good research report? 

 Gx J¸ |À» B´Ä Hk? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) List the importance of research. 

   Bμõ´a]°ß •UQ¯zxÁzøu £mi¯¼kP. 

Or 

 (b) State the objectives of social science research. 

   \‰P AÔÂ¯À B´Âß ÷|õUPzøu ÂÍUSP. 

12.  (a) Explain the research design. 

   B´Ä ÁiÁø©¨ø£ ÂÍUSP. 

Or 

 (b) Explain descriptive research designs. 

   ÂÍUP Bμõ´a] ÁiÁø©¨ø£ ÂÍUSP. 

13.  (a) Classification of data. 

   uμÄPøÍ ÁøP¨£kzxP. 

Or 

 (b) Distinguish sample Vs census. 

   ©õv› ©ØÖ® PnUöPk¨¦ ÷ÁÖ£õkPÒ GßÚ? 
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14.  (a) What are the type of hypothesis? 

   P¸x÷PõÒPÎß ÁøPPÒ GßÓõÀ GßÚ? 

Or 

 (b) Distinguish between dependent variable and 
independent variable. 

   \õº¦ ©õÔ ©ØÖ® \õº£ØÓ ©õÔ Cμsøh²® 
÷ÁÖ£kzxP. 

15.  (a) Highlights the merits of ANOVA test. 

   ANOVA ÷\õuøÚ°ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

Or 

 (b) What are the essentials of research ethics in a 
research report? 

   B´÷Ámiß B´Ä ö|Ô•øÓPÎß AÁ]¯® 
GßÚ? 

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions. 

16. Explain the types of research. 

 B´ÄPÎß ÁøPPøÍ ÂÁ›. 

17. Explain the process of research. 

 B´Ä ö\¯À •øÓPøÍ ÂÍUSP. 

18. Discuss the types of questionnaires. 

 ÂÚõ¨£mi¯ÀPÎß ÁøPPøÍ ÂÁõv. 

19. Explain the good report writing in a research. 

 •øÓ¯õÚ B´Ä GÊxÁøu ÂÍUSP. 

20. Justify the responsibility of ethics in research. 

 B´Ä ö|Ô•øÓPÎß ö£õÖ¨¦PÒ {¯õ¯£kzxP. 

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What are direct material? 

 ÷|μi Pa\õ ö£õ¸mPÒ GßÓõÀ GßÚ? 

2. What do you understand by overhead? 

 ÷©Ø ö\»ÄPÒ SÔzx }Âº AÔÁx ¯õx? 

3. What are non-monetary incentives? 

 £n©ØÓ FUPzöuõøP GßÓõÀ GßÚ? 

4. What is a differential piece rate system? 

 ÷ÁÖ£mh ÷Áø» T¼ Ãu® GßÓõÀ GßÚ? 

5. List out the different overheads. 

 £À÷ÁÖ ÷©Øö\»ÄPøÍ £mi¯¼kP. 

6. What is allocation of overheads? 

 ÷©Ø ö\»ÄPÒ JxURk GßÓõÀ GßÚ? 
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7. What is contract costing? 

 J¨£¢u AhUPÂø» Gß£x ¯õx? 

8. Write a note on job costing. 

 £o AhUPÂø» SÔzx ]Ö SÔ¨¦ ÁøμP. 

9. What do you understand by reconciliation of cost and 
financial accounts? 

 {v{ø» PnUQ¯ø»²® AhUPÂø» PnUQ¯ø»²® \› 
PmkÁx GßÓõÀ GßÚ? 

10. What is the need for reconciliation? 

 PnUSPøÍ \› PmkÁuß ÷uøÁ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Find out the economic order quantity (EOQ) from 
the following particulars; annual usage : 6,000 
units; cost of material per unit : Rs. 20; cost of 
placing and receiving one order : Rs. 60 Annual 
carrying cost of one unit : 10% of inventory value. 

   ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x ö£õ¸Íõuõμ JÊ[S 

AÍøÁ (EOQ) PshÔ¯Ä®, Bsk £¯ß£õk : 
6,000 A»SPÒ, J¸ ³ÛmkUPõÚ ö£õ¸Îß Âø» : 
¹. 20, J¸ Bºhøμ øÁ¨£uØS® ö£ÖÁuØS® 
BS® ö\»Ä : ¹. 60 J¸ ³Ûmiß Á¸hõ¢vμ 
_©¢x ö\À¾® ö\»Ä : C¸¨¦ ©v¨¤À 10%. 

Or 

 (b) Ascertain the profit for 2010; cost of sales  
Rs. 3,00,000; profit at 20% of sales. 

   2010UPõÚ »õ£zøuU PshÔ¯Ä®, ÂØ£øÚ ö\»Ä 
¹. 3,00,000, ÂØ£øÚ°À 20% »õ£®. 
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12.  (a) The following are the particulars applicable to a 

work process; time rate Rs. 5 per hour; High task 40 

units per week; piece rate above the high task  

Rs. 6.5 per unit. In a 40-hour week, the production 

of the workers was as follows; A 35 unit B 40 units 

C 41 units D 52 units. Calculate the wages of the 

workers under Gantt’s task bonus plan. 

   ¤ßÁ¸® ÂÁμ[PÒ J¸ £o ö\¯À•øÓUS 
ö£õ¸¢x®, ÷|μU Pmhn® J¸ ©o ÷|μzvØS ¹. 5, 

E¯º £o ÁõμzvØS 40 A»SPÒ, E¯º £oUS 
÷©À xsk Âø» ³ÛmkUS ¹. 6.5, 40 ©o ÷|μ 

ÁõμzvÀ, öuõÈ»õÍºPÎß EØ£zv ¤ßÁ¸©õÖ,  A 

35 A»S B 40 A»SPÒ C 41 A»SPÒ D 52 

A»SPÒ. GanttCß £o ÷£õÚì vmhzvß RÌ 

öuõÈ»õÍºPÎß Fv¯zøu PnUQk[PÒ. 

Or 

 (b) Calculate the total earnings from the following data 

under Halsey plan and under Halsey - Weir plan 

  Standard time : 10 hours 

  Time taken - 8 hours 

  Time rate : Rs. 2.50 per hour. 

   íõÀ] vmhzvß RÌ ©ØÖ® íõÀ] & Ãº vmhzvß 
RÌ ¤ßÁ¸® uμÄPÎ¼¸¢x ö©õzu Á¸Áõø¯U 

PnUQhÄ®. 

  {ø»¯õÚ ÷|μ® : 10 ©o÷|μ® 

  GkUP¨£mh ÷|μ® – 8 ©o÷|μ® 

  ÷|μ ÂQu® : J¸ ©o ÷|μzvØS ¹. 2.50 
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13.  (a) In a factory 3 products are made from different 
materials by similar processes. For a typical period, 
the production costs are as under 

 Product A Product B Product C

Material used 1,600 2,000 800 

Direct labour cost 1,200 1,000 400 

Overhead (actual) 800 650 350 

  Calculate the overhead charged on direct labour cost 
basis as percentage. 

   J¸ öuõÈØ\õø»°À 3 ö£õ¸mPÒ J÷μ ©õv›¯õÚ 
ö\¯À•øÓPÍõÀ öÁÆ÷ÁÖ ö£õ¸mPÎ¼¸¢x 
u¯õ›UP¨£kQßÓÚ. J¸ ö£õxÁõÚ Põ»zvØS, 
EØ£zv ö\»ÄPÒ R÷Ç C¸US® 

 u¯õ›¨¦ A u¯õ›¨¦ B u¯õ›¨¦ C

£¯ß£kzv¯ ö£õ¸Ò 1,600 2,000 800 

÷|μi öuõÈ»õÍº ö\»Ä 1,200 1,000 400 

÷©À{ø» (Esø©) 800 650 350 

  ÷|μi öuõÈ»õÍº ö\»Ä Ai¨£øh°À 
Á`¼UP¨£k® ÷©À{ø»ø¯ \uÃu©õPU 
PnUQk[PÒ. 

Or 

 (b) Calculate machine hour rate from the following : 

  Running hours p.a. 2,000 hrs 

  Repairs p.a.Rs. 160 

  Rent p.a. Rs. 320 

  Cost of machinery Rs. 4,000 

  Depreciation 7½% p.a.  
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   ¤ßÁ¸ÁÚÁØÔ¼¸¢x C¯¢vμ ©o÷|μ ÂQuzøuU 
PnUQk[PÒ. 

  C¯[S® ÷|μ® p.a. 2,000 ©o 

  £Êx ¹. 160 

  ÁõhøP ¹. 320 

  C¯¢vμ[PÎß Âø» ¹. 4,000 

  ÷u´©õÚ® 7½%  BskUS 

14.  (a) Senthil construction company undertook a contract 
for constructing a building from 1st Jan 2010. 
Contract price was Rs. 1,00,000. He incurred the 
following expenses. 

 Rs. 
Materials issued 6,000
Materials in hand, at the end 1,000
Wages 5,000
Direct expenses 20,000
Plant purchased 10,000

  The contract was completed on 30th June 2010 and 
the contract price was duly received. Provide 
depreciation @20% p.a. on plant and charge indirect 
expenses at 20% on wages. Prepare contract account 
in the books of the company. 

   ö\¢vÀ Pmk©õÚ {ÖÁÚ® 1 áÚÁ› 2010 •uÀ 
Pmih® PmkÁuØPõÚ J¨£¢uzøu ÷©ØöPõshx. 
J¨£¢u Âø» ¹. 1,00,000. AÁº ¤ßÁ¸® 
ö\»ÄPøÍa ö\´uõº. 

 ¹. 

ö£õ¸mPÒ ÁÇ[P¨£mhÚ 6,000
øP°À ö£õ¸mPÒ, CÖv°À 1,000
T¼PÒ 5,000
÷|μi ö\»ÄPÒ 20,000
Bø» Áõ[P¨£mhx 10,000
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  J¨£¢u® 30 áüß 2010 AßÖ •iUP¨£mk J¨£¢u 
Âø» •øÓ¯õP¨ ö£Ó¨£mhx. Bø»US @20% p.a. 
÷u´©õÚzøu ÁÇ[PÄ® ©ØÖ® ©øÓ•P ö\»ÄPøÍ 
20% Fv¯zvÀ Á`¼UPÄ®. {ÖÁÚzvß 
¦zuP[PÎÀ J¨£¢uU PnUøPz u¯õ›UPÄ®. 

Or 

 (b) The following is the summary of transactions as on 
31st December, 2016, relating to a special contract 
completed during the year. 

 Rs. 

Materials brought from the market 1,500

Materials issued from the stores 500 

Wages 2,440

Direct expenses 294 

  Office on cost-10% of prime cost. 

  You are required to prepare a contract account 
keeping in view that material returned amounted to 
Rs. 240. 

   31 i\®£º, 2016 AßÖ ö\´¯¨£mh 
£›ÁºzuøÚPÎß _¸UP®, A¢u BsiÀ {øÓÄ 
ö\´¯¨£mh ]Ó¨¦ J¨£¢u® öuõhº£õÚx. 

 ¹. 

\¢øu°À C¸¢u öPõsk Áμ¨£k® ö£õ¸mPÒ 1,500

PøhPÎÀ C¸¢x ÁÇ[P¨£k® ö£õ¸mPÒ 500 

T¼PÒ 2,440

÷|μi ö\»ÄPÒ 294 

  ö\»ÂÀ A¾Á»P® & ¤μuõÚ ö\»ÂÀ 10% 

  v¸®£¨ ö£Ó¨£mh ö£õ¸Ò ¹. 240 Gß£øuU 
P¸zvÀ öPõsk }[PÒ J¨£¢uU PnUøP&z 
u¯õ›UP ÷Ásk®. 
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15.  (a) Loss as per cost appoint Rs. 1,00,000 

  Works overheard under - recovered in cost account 
Rs. 10,000 

  Interest on investment received Rs. 3,000 

  Selling and distribution overhead over recovered in 
cost account Rs. 5,000 

  Calculate profit as per financial accounts from the 
above information. 

   ö\»Ä {¯©Úzvß £i CÇ¨¦ ¹. 1,00,000 

  ÷©Ø{ø»¨ £oPÒ & ö\»ÄU PnUQÀ 
«möhkUP¨£mh ¹. 10,000 

  •u½mkUPõÚ Ámi ¹. 3,000 Qøhzux 

  ö\»ÄU PnUQÀ ¹. 5,000 «möhkUP¨£mh 
÷©À{ø» ÂØ£øÚ ©ØÖ® Â{÷¯õP® 

  ÷©÷» EÒÍ uPÁÀPÎ¼¸¢x {vU PnUSPÎß £i 
»õ£zøuU PnUQk[PÒ. 

Or 

 (b) From the following data find out profit as per caste 
accounts. 

  (i) Profit as per as per profit and loss account  
Rs. 4,80,000. 

  (ii) Over recovery of factory overheads Rs. 5,000. 

  (iii) Profit on sale of assets shown in financial 
account Rs. 1,000.   

  (iv) Dividend received Rs.2,000 appears in profit 
and loss account. 

   ¤ßÁ¸® uμÄPÎ¼¸¢x \õvU PnUSPÎß£i 
C»õ£zøuU PshÔ¯Ä®. 

  (i) »õ£ |èhU PnUQß£i C»õ£® ¹. 4,80,000 

  (ii) öuõÈØ\õø» ÷©À{ø»PøÍ «möhk¨£vÀ  
¹. 5,000 

  (iii) {vU PnUSPÎÀ Põmh¨£mkÒÍ 
ö\õzxUPÎß ÂØ£øÚ°ß »õ£® ¹. 1,000 

  (iv) ö£Ó¨£mh DÄzöuõøP ¹. 2,000 »õ£ |èhU 
PnUQÀ ÷uõßÖ®.  
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. A manufactured buys certain equipment from outside 
suppliers at Rs. 30 per unit. The total annual needs are 
Rs. 80,000 units. The following for the data are available. 

 Annual return on investment - 10% 

 Rent, insurance, tax per unit per year Rs. 13 

 Cost of place in an order Rs. 100 

 Determine the economic ordering quantity. 

 J¸ EØ£zv¯õÍº ]» E£Pμn[PøÍ öÁÎ 
\¨øÍ¯ºPÎhª¸¢x ¹.30 J¸ ³ÛmkUS. ö©õzu 
Bskz ÷uøÁPÒ ¹. 80,000 A»SPÒ. ¤ßÁ¸® uμÄPÒ 
QøhUQßÓÚ. 

 •u½miÀ Bsk Á¸©õÚ® & 10% 

 ÁõhøP, Põ¨¥k, Á¸hzvØS J¸ ³Ûm Á› 13 

 J¸ Bºh›À Chzvß Âø» ¹. 100 

 ]UPÚ öPõÒ•uÀ AÍøÁz wº©õÛUPÄ®. 

17. Ascertain wages of a worker under Bedeaux’s point 
premium system from the following details. 

 Standard output per day of 8 hours = 160 units 

 Actual output during a day of 8 hours 200 units 

 Rate per hour is Rs. 5.00. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Bedeaux Cß ¦ÒÎ ¥›ª¯® 
•øÓ°ß RÌ J¸ öuõÈ»õÎ°ß Fv¯zøuU 
PshÔ¯Ä®. 

 J¸ |õÐUS 8 ©o ÷|μ {ø»¯õÚ öÁÎ±k = 160 
A»SPÒ 

 8 ©o÷|μ® 200 A»SPÒ J¸ |õÎÀ Esø©¯õÚ 
öÁÎ±k 

 J¸ ©o ÷|μzvØS ¹. 5.00. 
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18. Kumaresh Ltd., has three production departments A, B 
and C and two service departments D and E, the 
following figures are extracted from the records of the 
company. 

 Rs. 

Rent and rates 5,000

Indirect wages 1,500

Depreciation of machinery 10,000

General lighting 600

Power 1,500

Sundries 10,000

 Following further details are available : 

 Total A B C D E 

Floor space in square feet 10,000 2,000 2,500 3,000 2,000 500

Light points 60 10 15 20 10 5 

Direct wages (Rs.) 10,000 3,000 2,000 3,000 1,500 500

H.P. of machines 150 60 30 50 10 - 

Value of machinery (Rs.) 2,50,00060,000 80,0001,00,0005,0005,000

 S©÷μè ¼ªmöhm, A, B ©ØÖ® C BQ¯ ‰ßÖ EØ£zvz 
xøÓPøÍU öPõskÒÍx ©ØÖ® D ©ØÖ® E BQ¯ 
Cμsk ÷\øÁz xøÓPøÍU öPõskÒÍx.¤ßÁ¸® 
¦ÒÎÂÁμ[PÒ {ÖÁÚzvß £vÄPÎ¼¸¢x 
¤›zöukUP¨£mkÒÍÚ : 

 ¹. 

ÁõhøP ©ØÖ® Á› 5,000

©øÓ•P Fv¯® 1,500

C¯¢vμ[PÎß ÷u´©õÚ® 10,000

ö£õx ÂÍUSPÒ 600

£Áº 1,500

\smŸì 10,000
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 ¤ßÁ¸® TkuÀ ÂÁμ[PÒ QøhUQßÓÚ : 
 ö©õzu® A B C D E 

\xμ Ai°À Ch® 10,000 2,000 2,500 3,000 2,000 500
JÎ ¦ÒÎPÒ 60 10 15 20 10 5 
÷|μi Fv¯® (¹.) 10,000 3,000 2,000 3,000 1,500 500
C¯¢vμ[PÎß Ga.¤. 150 60 30 50 10 - 
C¯¢vμ[PÎß ©v¨¦ 
(¹.) 

2,50,000 60,000 80,000 1,00,000 5,000 5,000

19. Show that treatment of plant in contract account from the 
following information 

 (a) Plant issued to contract on 1st January 2010  
Rs. 2,00,000 

 (b) Plant costing Rs. 10,000 was transferred to another 
contract on 30th June 2010 

 (c) A plant costing Rs. 6,000 was stolen in transit and 
another costing Rs. 5,000 was destroyed by fire 
before installation. There was fire cum burglary 
insurance to the full value 

 (d) Plant costing Rs. 2,000 was sold for Rs. 3,000 

 (e) Plant at the end of December was valued by 
charging depreciation at 10% per annum.  

 ¤ßÁ¸® uPÁ¼¼¸¢x J¨£¢uU PnUQÀ ]Qaø\ø¯U 
PõmkP. 

 (A) áÚÁ› 1, 2010 AßÖ J¨£¢uzvØS ÁÇ[P¨£mh 
Bø» ¹. 2,00,000 

 (B) Bø» Âø» ¹. 10,000 áüß 30, 2010 AßÖ 
©ØöÓõ¸ J¨£¢uzvØS ©õØÓ¨£mhx. 

 (C) J¸ Bø» ¹. 6,000 PhzuÀ ©ØÖ® ©ØöÓõ¸ ©v¨¦ 
¹.5,000 {ÖÄ® •ß  w°À G›¢x |õ\©õÚx. •Ê 
©v¨¦US w ©ØÖ® öPõÒøP Põ¨¥k C¸¢ux.  

 (D) Bø» Âø» ¹. 2,000US ÂØP¨£mhx. 3,000 

 (E) i\®£º ©õu CÖv°À Bø»US BskUS 10% 
÷u´©õÚ® Á`¼UP¨£mhx. 



D–8594 
  11

20. During a particular year the auditor certified the 
financial accounts showing a profit of Rs. 1,68,000 where 
is the same as per costing books was coming out to be  
Rs. 2,40,000. Give the following information you are 
required to prepare a reconciliation statement showing 
clearly the reasons for the gap. 

 Trading and profit and loss account 

Particulars Rs. Particulars Rs. 

To opening stock 8,20,000By sales 34,65,000

To purchases 24,72,000By closing stock 7,50,000

To direct wages 2,30,000  

To factory overheads 2,10,000  

To gross profit c/d 4,83,000  

 42,15,000  42,15,000

To administrative expenses 95,000By gross profit b/d 4,83,000

To selling expenses 2,25,000By sundry income 5,000

To net profit 1,68,000  

 4,88,000  4,88,000

 The costing records show : 

 (a) Book value of closing stock Rs. 7,80,000 

 (b) Factory overheads has been observed to the extent 
of Rs. 1,89,800 

 (c) Sundry income is not considered 

 (d) Administrative expenses are recovered at 3% of 
sales 

 (e) Total absorption of direct wages Rs. 2,46,000 

 (f) Selling prices include 5% for selling expenses. 
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 J¸ SÔ¨¤mh BsiÀ, PnUS¨ £›÷\õuPº \õßÔß£i, 
A¢u {vUPnUS Põmk® »õ£® ¹.1,68,000. BÚõÀ A÷u 
BsiÀ AhUPÂø» PnUQß£i »õ£® ¹.2,40,000. C¢u 
CøhöÁÎUPõÚ Põμn[PmS AÔP, \›Pmk® £mi¯À 
u¯õº ö\´¯ ¤ßÁ¸® ÂÁμ[PÒ ÁÇ[P¨£mkÒÍÚ. 

Â¯õ£õμ ©ØÖ® C»õ£ |mhU PnS  

ÂÁμ® ¹.  ¹. 

öuõhUPa \μUQ¸¨¦ 8,20,000ÂØ£øÚ 34,65,000

öPõÒ•uÀ 24,72,000CÖva \μUQ¸¨¦ 7,50,000

÷|μi T¼ 2,30,000  

öuõÈØ\õø» 
÷©Øö\»ÄPÒ 

2,10,000  

ö©õzu C»õ£® 4,80,000  

 42,15,000  45,15,000

{ºÁõPa 
ö\»ÂÚ[PÒ 

95,000ö©õzu C»õ£® 4,83,000

ÂØ£øÚ ö\»ÄPÒ 2,25,000ö©õzu Á¸©õÚ 5,000

{Pμ C»õ£® 1,68,000  

 4,88,000  4,88,000

 AhUPÂø» Hmiß£i : 

 (A) CÖva \μUQ¸¨¤ß ¦zuP ©v¨¦ ¹.7,80,000 

 (B) öuõÈØ\õø» ÷©Øö\»ÄPÒ DºUP¨£mhx 
¹.1,89,000 

 (C) ö©õzu Á¸©õÚ® PnUQh¨£hÂÀø» 

 (D) {ºÁõPa ö\»ÄPÒ, ÂØ£øÚ°À 3% PnUQh¨£mhx 

 (E) ö©õzu©õP DºUP¨£mh ÷|μiUT¼ ¹.2,46,000 

 (F) ÂØ£øÚ Âø»°À 5% ÂØ£øÚa ö\»Ä® 
Ah[Q²ÒÍx. 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What do you mean by financial services? 

 {v ÷\øÁPÒ £ØÔ } AÔÁx GßÚ? 

2. What is primary market? 

 •ußø© £[S \¢øu GßÓõÀ GßÚ? 

3. What is secondary market? 

 Cμshõ® {ø» £[S \¢øu GßÓõÀ GßÚ? 

4. Write the innovative financial instruments. 

 ¦xø©¯õÚ {v £[S P¸ÂPøÍ GÊxP. 

5. Mention the few finance companies. 

 {v {ÖÁÚ[PÒ ]»ÁØøÓ GÊxP. 

6. What is leasing? 

 SzuøP GßÓõÀ GßÚ? 
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7. Define mutual fund. 

 £μì£μ {v Áøμ¯Ö. 

8. Write types of takeover. 

 øP¯P¨£kzxuÀ ÁøPPøÍ GÊxP. 

9. What is the objective of SEBI? 

 SEBI °ß ÷|õUP® GßÓõÀ GßÚ? 

10. What is chit funds company? 

 ]m{v {ÖÁÚ® GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Distinguish between primary market and secondary 
market. 

   •ußø© \¢øu ©ØÖ® Cμshõ® {ø» \¢øu°ß 
÷ÁÖ£õkPÒ ¯õøÁ? 

Or 

 (b) What is the necessity for financial innovation in a 
company? 

   J¸ {ÖÁÚzvÀ ¦xø©¯õÚ {v°¯À ÷uøÁ 
GßÓõÀ GßÚ? 

12.  (a) Distinguish between money market and capital 
market. 

   {v \¢øu ©ØÖ® ‰»uÚ \¢øu ÷ÁÖ£kzv PõsP.  

Or 

 (b) What is the importance of global integration of 
financial market? 

   {v \¢øu°ß E»PÍõÂ¯ J¸[Qøn¨¤ß 
•UQ¯zxÁ® GßÚ? 
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13.  (a) What are the functions of SEBI? 

   SEBI °ß £oPÒ GßÚ? 

Or 

 (b) What are the functions of hire purchase financing? 

   ÁõhøP öPõÒ•uÀ {v°ß £oPøÍ GÊxP. 

14.  (a) State the objectives and benefits of credit rating. 

   Phß ©v¨¥k Aø©¨¤ß ÷|õUP® ©ØÖ® £¯ßPÒ 
ÂÍUSP.  

Or 

 (b) Write the role of portfolio manager. 

   ÷£õºm÷£õ¼÷¯õ ÷©»õÍº £[øP GÊxP. 

15.  (a) Classify the mutual funds. 

   £μì£μ {v°ß ÁøP£kzxP. 

Or 

 (b) What is the importance for export financing in 
India? 

   C¢v¯õÂÀ HØÖ©v {v°ß •UQ¯xÁ® GßÚ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the functions of stock market in India. 

 C¢v¯ £[S \¢øu°ß £oPøÍ ÂÁõv. 

17. Explain the functions, strength and weaknesses of 
finance companies. 

 {v {ÖÁÚ[PÎß £oPÒ, £»® ©ØÖ® £»ÃÚ[PøÍ 
ÂÍUSP. 
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18. Write notes on : (a) LIC (b) IFCI (c) IDBI (d) UTI (e) GIC. 

 ]Ö SÔ¨¦ GÊxP (A) LIC (B) IFCI (C) IDBI (D) UTI 
(E) GIC. 

19. What are the functions of commercial banking? 

 ÁoP Á[QPÎß £oPøÍ GßÓõÀ GßÚ? 

20. Discuss the regulations of non-banking financial 
companies in India. 

 C¢v¯õÂÀ Á[Q°¯À {v \õμõu {ÖÁÚzvß 
Âv•øÓPÒ ÂÁõv. 

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is investment? 

 •u½k GßÓõÀ GßÚ? 

2. What is speculation? 

 FP[PÒ GßÓõÀ GßÚ? 

3. Define risk. 

 B£zøu Áøμ¯ÖUPÄ®. 

4. Define preference shares. 

 •ßÝ›ø© £[SPøÍ Áøμ¯ÖUPÄ®. 

5. What is mutual funds? 

 ª²a_ÁÀ L£skPÒ GßÓõÀ GßÚ? 

6. What is anoption? 

 Â¸¨£® GßÓõÀ GßÚ? 
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7. What is meant by future? 

 GvºPõ»® GßÓõÀ GßÚ? 

8. Define single factorials models. 

 JØøÓ Põμo ©õv›PøÍ Áøμ¯ÖUPÄ®. 

9. What is the capital market line? 

 ‰»uÚ \¢øu ÷|μø» GßÓõÀ GßÚ? 

10. What is meant by portfolio audit? 

 ÷£õºm÷£õ¼÷¯õ uoUøP GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Distinguish between speculation and gambling. 

   FP® ©ØÖ® `uõmhzøu ÷ÁÖ£kzx[PÒ. 

Or 

 (b) What are the factors influencing investment? 

   •u½møh £õvUS® PõμoPÒ GßÚ? 

12.  (a) Explain the new issue market in India. 

   C¢v¯õÂÀ £[S ¦v¯ öÁÎ±k \¢øuø¯ ÂÍUSP. 

Or 

 (b) What are the difference between the equity shares 

and preference shares? 

   GUÂmi £[SPÒ ©ØÖ® •ßÝ›ø© £[SPÒ 
÷ÁÖ£kzxP. 
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13.  (a) Explain the real estate. 

   ›¯À Gì÷hmøh ÂÍUSP. 

Or 

 (b) What are the components of investment analysis? 

   •u½mk £S¨£õ´Âß TÖPÒ GßÓõÀ GßÚ? 

14.  (a) Distinguish between futures and options. 

   GvºPõ»® ©ØÖ® Â¸¨£[PøÍ ÷ÁÖ£kzxP. 

Or 

 (b) Explain the single and two factorial models. 

   JØøÓ ©ØÖ® Cμsk Põμo ©ØÖ© ©õv›PøÍ 
ÂÍUSP. 

15.  (a) Explain the formula plans. 

   _zvμ vmh[PÒ ÂÍUSP. 

Or 

 (b) Explain the Capital Asset Pricing Model (CAPM). 

   ‰»uÚ ö\õzx Âø» {ºn¯ ©õv› ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the various types of investment. 

 £À÷ÁÖ  ÁøP¯õÚ •u½møh¨ £ØÔ ÂÁ›UPÄ®. 

17. Explain the SEBI and its role and guidelines. 

 SEBI ©ØÖ® Auß £[S ©ØÖ® ÁÈPõmkuÀPøÍ 
ÂÁ›UPÄ®. 
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18. Explain the listing of securities. 

 £zvμ[PÎß £mi¯ø» ÂÍUSP. 

19. Discuss the fundamental analysis. 

 Ai¨£øh £S¨£õ´øÁ¨ £ØÔ ÂÁõvUPÄ®. 

20. Discuss the Lagrange multiplier method. 

 »õU÷μga ö£¸UQ •øÓø¯¨ £ØÔ ÂÁõvUPÄ®. 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is financial management? 

 {v ÷©»õsø© GßÓõÀ GßÚ? 

2. What is dividend? 

 £[Põuõ¯® GßÓõÀ GßÚ? 

3. What are the components of working capital? 

 |øh•øÓ •uÀ TÖPÒ GßÓõÀ GßÚ? 

4. Mention two importance of capital structure. 

 •uÀ Pmhø©¨¤ß Cμsk •UQ¯zxÁzøu GÊxP. 

5. What is a right issue? 

 E›ø© öÁÎ±k GßÓõÀ GßÚ? 

6. What is capital planning? 

 ‰»uÚ vmh® GßÓõÀ GßÚ? 
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7. What capital budgeting? 

 ÁμÄ ö\»Ä ‰»uÚ® GßÓõÀ GßÚ? 

8. What is leverage? 

 E¢xuÀ GßÓõÀ GßÚ? 

9. Define FOREX market. 

 FOREX \¢øu Áøμ¯Ö. 

10. What is letter of credit? 

 ö»mhº B¨ Q›im GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) What are the objectives of financial management in 
an organisation? 

   J¸ {ÖÁÚzvÀ {v ÷©»õsø©°ß ÷|õUP[PÒ 
¯õøÁ? 

Or 

 (b) Write the types of financial management. 

   {v ÷©»õsø©°ß ÁøPPøÍ GÊxP. 

12.  (a) What are the factors determining capital structure? 

   •u½mk Pmhø©¨ø£ wº©õÛUS® PõμoPÒ 
¯õøÁ? 

Or 

 (b) ABC company has the following capital structure : 

Particulars Rs. 

Equity share capital 10,00,000

10% preference share capital 10,00,000

8% debenture 12,50,000
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  The present EBIT is Rs. 5,00,000. Calculate the 
financial leverage assuming that the company is in 
50% tax bracket. 

   ABC {ÖÁÚzvß •u½mk Pmhø©¨¦ 

ÂÁμ[PÒ ¹. 

\õuõμn £[S •uÀ 10,00,000

10% •ßÝ›ø©¨ £[S •uÀ 10,00,000

8% PhÜmk¨ £zvμ® 12,50,000

  uØ÷£õøu¯ EBIT ¹. 5,00,000. {ÖÁÚ® 50% Á› 
Aøh¨¤À C¸¨£uõPU P¸v {v A¢{¯a 
ö\»õÁoø¯U PnUQk[PÒ. 

13.  (a) State the dangers of inadequate working capital. 

   ÷£õx©õÚ |øh•øÓ ‰»uÚ® CÀ»õuuõÀ HØ£k® 
B£zxPøÍU TÖ. 

Or 

 (b) Ravi Ltd., has a policy of maintaining a minimum 
cash balance of Rs. 5,00,000. The standard deviation 
of the company’s daily cash flows is Rs. 2,00,000. the 
annual interest rate is 14%. The transaction cost of 
buying or selling securities is Rs. 150 per 
transaction. Determine Amit’s upper control limit 
and return point as per Miller-Orr model. 

   μÂ ¼ªöhm {ÖÁÚ® SøÓ¢u£m\ öμõUP C¸¨¦  
¹. 5,00,000I £μõ©›US® öPõÒøPø¯U 
öPõskÒÍx. {ÖÁÚzvß vÚ\› öμõUP 
Kmh[PÎß {ø»¯õÚ Â»PÀ ¹. 2,00,000 BS®. 
Bsk Ámi ÂQu® 14%. £zvμ[PøÍ Áõ[SuÀ 
AÀ»x ÂØ£uØPõÚ £›ÁºzuøÚ ö\»Ä J¸ 
£›ÁºzuøÚUS ¹. 150 BS®. ªÀ»º&Kº ©õv›°ß 
£i Aªzvß Ea\ Pmk¨£õmk Áμ®¦ ©ØÖ® 
v¸®£¨ ö£Ö® ¦ÒÎø¯ wº©õÛUPÄ®. 
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14.  (a) Write a short notes on  : 

  (i) ARR (ii) IRR (iii) NPV. 

    ]ÖSÔ¨¦ ÁøμP : 

  (i) ARR (ii) IRR (iii) NPV. 

Or 

 (b) Define leasing. Write the types of leasing. 

   SzuøP Áøμ¯Ö. SzuøP°ß ÁøPPøÍ GÊxP. 

15.  (a) State the types of leverage. 

   E¢x¼ß ÁøPPøÍ GÊxP. 

Or 

 (b) XYZ Ltd., produced and sold 1,00,000 units of a 
product at the rate of Rs. 10 per unit. For 
production of 1,00,000 units it has spent a variable 
cost of Rs. 6,00,000 at the rate of Rs. 6 per unit and 
a fixed costs of Rs. 2,50,000. The firm has paid 
interest of Rs. 5,000 at the rate of 5 per cent and  
Rs. 1,00,000 debt calculate operating leverage. 

   XYZ ¼ªöhmh, J¸ ³ÛmkUS ¹. 10 GßÓ 
ÂQuzvÀ 1,00,000 ³Ûm EØ£zv ö\´x ÂØ£øÚ 
ö\´ux. 1,00,000 ³Ûm EØ£zvUS ¹. 6 GßÓ 
ÂQuzvÀ ¹. 6,00,000 ©õÔa ö\»øÁ²®, ¹. 
2,50,000 {ø»¯õÚ ö\»øÁ²® ö\»ÂmkÒÍx. 
{ÖÁÚ® 5 \uÃu ÂQuzvÀ ¹. 5,000 Ámiø¯²® 
¹. 1,00,000 PhøÚ²® ö\¾zv²ÒÍx. ö\¯À£õmk 
A¢{¯a ö\»õÁoø¯U PnUQk[PÒ. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the contents of financial management. 

 {v ÷©»õsø©°ß ö£õ¸ÍhUP[PÒ £ØÔ ÂÍUSP. 
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17. The capital structure of the GM corporation Ltd., consists 
of an equity share capital of Rs. 10,00,000 (shares of Rs. 
10 per value) and Rs. 10,00,000 of 20% debentures. The 
sales increased by 25% from 2,00,000 units to 2,50,000 
units. The selling price is Rs. 10 per unit. Variable costs 
amount to Rs. 6 per unit and fixed expenses amount to 
Rs. 2,50,000. Income tax rate is assumed to be 50%. You 
are required to calculate the following : 

 (a) The percentage increase in EPS. 

 (b) The degree of operating leverage at 2,00,000 units 
and 2,50,000 units 

 (c) The degree of financial leverage at 2,00,000 units 
and 2,50,000 units 

 (d) The degree of combined leverage at 2,00,000 units 
and 2,50,000 units. 

 GM Põº¨£÷μåß ¼ªöhmiß ‰»uÚ Aø©¨¦, ¹. 
10,00,000 £[S ‰»uÚzøu²® (©v¨¦US ¹. 10 
£[SPÒ) ¹. 10,00,000 20% Phß £zvμ[PøÍ²® 
öPõskÒÍx. ÂØ£øÚ 2,00,000 ³ÛmkPÎ¼¸¢x 
2,50,000 ³ÛmkPÍõP 25% AvP›zxÒÍx. ÂØ£øÚ 
Âø» ³ÛmkUS ¹. 10 ©õÔ ö\»ÄPÒ ³ÛmkUS ¹. 6 
BPÄ®. {ø»¯õÚ ö\»ÄPÒ ¹. 2,50,000 BPÄ® 
C¸US®. Á¸©õÚ Á› ÂQu® 50% GßÓ P¸u¨£kQÓx. 
}[PÒ ¤ßÁ¸ÁÚÁØøÓU PnUQh ÷Ásk®. 

 (A) EPS CÀ \uÃu AvP›¨¦ 

 (B) 2,00,000 A»SPÒ ©ØÖ® 2,50,000 A»SPÎÀ 
ö\¯À£õmk A¢{¯a ö\»õÁo°ß AÍÄ 

 (C) 2,00,000 A»SPÒ ©ØÖ® 2,50,000 A»SPÎÀ {v 
A¢{¯a ö\»õÁo°ß AÍÄ 

 (D) 2,00,000 A»SPÒ ©ØÖ® 2,50,000 A»SPÎÀ 
J¸[Qøn¢u A¢{¯a ö\»õÁo°ß AÍÄ. 
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18. From the following information, calculate the operating 
cycle in days and amount of working capital employed. 

Period covered 365 days

 Rs.

Total production cost 11000

Total cost of sales 12000

Raw material consumption 4600

Average total debtors outstanding 500

Credit sales for the year 15000

Value of average stocks maintained :

Raw materials 340

Work-in-progress 380

Finished goods 280

Amount given represents lakhs  

 ¤ßÁ¸® uPÁÀPÎ¼¸¢x, C¯UP _ÇØ]ø¯ |õmPÒ 
©ØÖ® £o ‰»uÚzvß AÍÄ BQ¯ÁØÔÀ 
PnUQk[PÒ. 

Põ»®  365 |õmPÒ

 ¹.

ö©õzu EØ£zv ö\»Ä 11000
ö©õzu ÂØ£øÚ ö\»Ä 12000
‰»¨ö£õ¸Ò ~PºÄ 4600
\μõ\› ö©õzu PhÚõÎPÒ {¾øÁ°À 500
Phß ÂØ£øÚ BskUS 15,000
£μõ©›UP¨£k® \μõ\› C¸¨¦PÎß ©v¨¦ : 

‰»¨ö£õ¸mPÒ 340
ö\¯À£õmiÀ EÒÍøÁ 380
•iUP¨£mh ö£õ¸mPÒ 280
öPõkUP¨£mh öuõøP »m\[PøÍU SÔUQÓx  
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19. Describe MM dividend theory approach. 

 MM £[Põuõ¯® ÷Põm£õk AqS•øÓ ÂÍUSP. 

20. Two components, A and B are used as follows : 

Normal usage 4,000 units per week each 

Minimum usage 2500 units per week each 

Maximum usage 5500 units per week each 

Reorder quantity A : 4000 units; B : 5000 units 

Reorder period A : 5 to 7 weeks; B 3 to 5 weeks

 Calculate the following : 

 (a) Reorder level 

 (b) Minimum level 

 (c) Maximum level 

 (d) Average stock level. 

 Cμsk TÖPÒ, A ©ØÖ® B ¤ßÁ¸©õÖ 
£¯ß£kzu¨£kQßÓÚ : 

 \õuõμn £¯ß£õk ÁõμzvØS 4000 A»SPÒ 

 SøÓ¢u£m\ £¯ß£õk ÁõμzvØS 2500 A»SPÒ 

 AvP£m\ £¯ß£õk ÁõμzvØS 5500 A»SPÒ 

 ©ÖÁ›ø\ AÍÄ A : 4000 A»SPÒ; B : 5000 A»SPÒ 

 ©ÖÁ›ø\ Põ»® A : 5 •uÀ 7 Áõμ[PÒ; B : 3 •uÀ  
5 Áõμ[PÒ 

 ¤ßÁ¸ÁÚÁØøÓU PnUQk[PÒ. 

 (A) ©ÖÁ›ø\ {ø» 

 (B) SøÓ¢u£m\ {ø» 

 (C) AvP£m\ {ø» 

 (D) \μõ\› £[S {ø». 
———————— 
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PRINCIPLES OF PERSONNEL MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define personnel management. 

 £o¯õÍº ÷©»õsø© GßÓõÀ GßÚ? 

2. State any two objectives of personnel management. 

 £o¯õÍº ÷©»õsø©°ß Cμsk •UQ¯ ÷|õUP[PøÍ 
SÔ¨¤kP. 

3. Mention any two methods of job evaluation. 

 ÷Áø» ©v¨¥miß Cμsk •øÓPøÍ SÔ¨¤kP. 

4. What is Human resource planning? 

 ©Ûu ÁÍ vmhªhÀ GßÓõÀ GßÚ? 

5. List any two principles of organizational structure. 

 {ÖÁÚ Aø©¨¤ß Cμsk öPõÒøPPøÍ SÔ¨¤kP. 

6. Define recruitment. 

 Bm÷\º¨¦ GßÓõÀ GßÚ? 

Sub. Code 
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7. What are the essentials of a good training program? 

 J¸ ]Ó¢u £°Ø] vmhzvß Azv¯õÁ]¯ A®\[PÒ 
¯õøÁ? 

8. What is performance appraisal? 

 ö\¯ÀvÓß ©v¨¥k GßÓõÀ GßÚ? 

9. Define motivation. 

 FUP‰mhÀ GßÓõÀ GßÚ? 

10. Mention any two causes of absenteeism. 

 ÷Áø» uÂº¨£uØPõÚ Cμsk Põμn[PøÍ SÔ¨¤kP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Explain the functions of personnel management. 

   £o¯õÍº ÷©»õsø©°ß ö\¯À£õkPøÍ ÂÍUSP. 

Or 

 (b) Discuss the role of personnel policies in an 
organization. 

   J¸ {ÖÁÚzvÀ £o¯õÍº öPõÒøP°ß 
•UQ¯zxÁzøu ÂÁ›UPÄ®. 

12.  (a) Describe the process of job analysis. 

   ÷Áø» £S¨£õ´Ä |øh•øÓø¯ ÂÍUSP. 

Or 

 (b) Explain the advantages and disadvantages of job 
evaluation. 

   ÷Áø» ©v¨¥miß |ßø©PÒ ©ØÖ® wø©PøÍ 
ÂÍUSP. 
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13.  (a) What are the factors influencing human resource 
planning? 

   ©Ûu ÁÍ vmhªhø»z wº©õÛUS® PõμoPÒ 
GßÚ? 

Or 

 (b) Explain the process of human resource planning. 

   ©ÛuÁÍ vmhªhÀ ö\¯À•øÓø¯ ÂÍUSP. 

14.  (a) Discuss the different types of leadership styles. 

   uø»ø©zxÁ £õoPÎß ÁøPPøÍ ÂÁ›UPÄ®. 

Or 

 (b) Explain the theories of motivation. 

   FUP‰mhÀ ÷Põm£õkPøÍ ÂÍUSP. 

15.  (a) What are the causes of grievance in an 
organization? 

   J¸ {ÖÁÚzvÀ SøÓTÓÀ HØ£kÁuØPõÚ 
Põμn[PøÍ ÂÁ›UPÄ®. 

Or 

 (b) Explain the concept of collective bargaining. 

   SÊ ÷£a_Áõºzøu°ß P¸zøu ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various managerial and operative functions 
of personnel management. 

 £o¯õÍº ÷©»õsø©°ß {ºÁõP ©ØÖ® ö\¯À£õmk 
£oPøÍ ÂÍUSP. 
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17. Describe the different steps involved in the selection 
process. 

 ÷uºÄ ö\¯À•øÓ°ß öÁÆ÷ÁÖ {ø»PøÍ ÂÁ›UPÄ®. 

18. What are the different methods of performance appraisal? 
Explain with examples. 

 ö\¯ÀvÓß ©v¨¥miß £À÷ÁÖ •øÓPøÍ 
GkzxUPõmkPÐhß ÂÍUSP. 

19. Discuss the factors and principles of wages and salary 
administration. 

 \®£Í® ©ØÖ® Fv¯ {ºÁõPzvß PõμoPÒ ©ØÖ® 
öPõÒøPPøÍ ÂÁ›UPÄ®. 

20. Explain the objectives, scope and importance of personnel 
audit. 

 £o¯õÍº PnUQß ÷|õUP[PÒ, ö\¯À öÁÎ¨£õk ©ØÖ® 
•UQ¯zxÁzøu ÂÍUSP. 

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by issue of shares? 

 £[S öÁÎ±k GßÓõÀ GßÚ? 

2. Write short notes on underwriting. 

 GÊzxÖv GÊzx £ØÔ ]Ö SÔ¨¦PøÍ GÊx[PÒ. 

3. Define sinking fund. 

 ‰ÌS® {vø¯ Áøμ¯ÖUPÄ®. 

4. Write short note on managerial remuneration. 

 {ºÁõP Fv¯® £ØÔ ]Ö SÔ¨¦ GÊx[PÒ. 

5. Define amalgamation. 

 P»øÁ Gß£øu Áøμ¯ÖUPÄ®. 

6. What is meant by external reconstruction? 

 öÁÎ¨¦Ó ©ÖPmhø©¨¦ GßÓõÀ GßÚ? 

Sub. Code 
31034/33534



D–8599 
  2

7. Write any two reasons for winding up of a company. 

 J¸ {ÖÁÚ® ‰h¨£k£ÁuØPõÚ H÷uÝ® Cμsk 
Põμn[PøÍ GÊx[PÒ. 

8. Write short notes on banking. 

 Á[Q°¯À £ØÔ ]Ö SÔ¨¦PÒ GÊx[PÒ. 

9. What is IFRS? 

 IFRS GßÓõÀ GßÚ? 

10. What is meant by HRA? 

 HRA GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Akansha Ltd., was formed with an authorized share 
capital of Rs. 1,00,000 divided into 10,000 share of 
Rs. 10 each, payable Rs. 2 on application, Rs. 3 on 
allotment, Rs. 4 on first call and Re. 1 second and 
final call. Pass necessary entries in the books of 
Akansha Ltd. 

   APßåõ ¼ªöhm ¹. 1,00,000 A[RP›UP¨£mh 
£[S ‰»uÚzxhß E¸ÁõUP¨£mhx. JÆöÁõßÖ® 
¹. 10 ©v¨¦ÒÍ 10,000 £[SPÍõP¨ ¤›UP¨£mhx. 
Âsn¨£zvÀ ¹. 2, JxURmiÀ ¹. 3, •uÀ 
AøÇ¨¤À ¹. 4 ©ØÖ® CμshõÁx ©ØÖ® CÖv 
AøÇ¨¤À ¹. 1 ö\¾zu ÷Ásk®. APßåõ 
¼ªöhmiß ¦zuP[PÎÀ ÷uøÁ¯õÚ EÒÏkPøÍ 
AÝ¨£Ä®. 

Or 

 (b) Explain the following : 

  (i) Shares issued at par 

  (ii) Shares issued at premium 

  (iii) Shares issued at discount. 
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   ¤ßÁ¸ÁÚÁØøÓ ÂÍUS[PÒ. 

  (i) \© Âø»°À öÁÎ°h¨£mh £[SPÒ 

  (ii) ¤Ÿª¯zvÀ öÁÎ°h¨£mh £[SPÒ 

  (iii) uÒÐ£i°À ÁÇ[P¨£mh £[SPÒ. 

12.  (a) From the following particulars, determine the 
maximum remuneration available to a full time 
director of a manufacturing company. 

  The profit and loss account of the company showed a 
net profit of Rs. 40,00,000 after taking into account 
the following items : 

  Rs. 

(i) Depreciation (including special 
depreciation of Rs. 40,000) 1,00,000

(ii) Provision for income tax 2,00,000

(iii) Donation to political parties 50,000

(iv) Ex-gratia payment to a worker 10,000

(v) Capital profit on sale of assets 15,000

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, J¸ EØ£zv 
{ÖÁÚzvß •Ê÷|μ C¯US|¸USU QøhUS® 
AvP£m\ Fv¯zøuz wº©õÛUPÄ®. 

  ¤ßÁ¸® E¸¨£iPøÍU PnUQÀ GkzxU öPõsh 
¤ÓS, {ÖÁÚzvß »õ£ |èhU PnUS ¹. 40,00,000 
{Pμ »õ£zøuU Põmi¯x : 

  ¹. 

(i) ÷u´©õÚ® (¹. 40,000 ]Ó¨¦  
÷u´©õÚ® Em£h) 

1,00,000

(ii) Á¸©õÚ Á›UPõÚ JxURk 2,00,000
(iii) Aμ]¯À Pm]PÐUS |ßöPõøh 50,000
(iv) J¸ öuõÈ»õÎUS P¸ønz öuõøP 10,000
(v) ö\õzxUPøÍ ÂØ£uß ‰»® QøhUS® 

‰»uÚ »õ£® 15,000

Or 
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 (b) A firm earned net profits during the last three years 
as follows : 

  I year  Rs. 54,000 

  II year Rs. 60,000 

  III year Rs. 66,000 

  The capital investment of the firm is Rs. 1,00,000. A 
fair return on the capital having regard to the risk 
involved is 25%. Calculate the value of goodwill on 
the basis of e years purchase of super profit. 

   Ph¢u ‰ßÖ BskPÎÀ J¸ {ÖÁÚ® {Pμ »õ£® 
Dmi¯x ¤ßÁ¸©õÖ : 

   I Á¸h®  ¹. 54,000 

  II Á¸h® ¹. 60,000 

  III Á¸h® ¹. 66,000 

  {ÖÁÚzvß ‰»uÚ •u½k ¹. 1,00,000. CvÀ 
EÒÍ B£zøu P¸zvÀ öPõsk ‰»uÚzvß «uõÚ 
{¯õ¯©õÚ Á¸©õÚ® 25%. `¨£º »õ£zøu e 
BskPÒ Áõ[Q¯uß Ai¨£øh°À |Àö»sn 
©v¨ø£U PnUQk[PÒ.  

13.  (a) From the following information prepare liquidator’s 
final statement of account. 

 Rs. 

Cash at bank 1,00,000

Surplus from securities 10,10,000

Expenses of liquidation 30,000

Liquidator’s remuneration 7,000

Preferential creditors 2,00,000

Unsecured creditors 7,00,000

Preference shareholders 1,00,000

Equity shareholders 1,00,000
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   ¤ßÁ¸® uPÁÀPÎ¼¸¢x Pø»¨£õÍ›ß CÖvU 
PnUS AÔUøPø¯z u¯õ›UPÄ®. 

 ¹. 

Á[Q°À öμõUP® 1,00,000

£zvμ[PÎ¼¸¢x E£› 10,10,000

Pø»¨¦ ö\»ÄPÒ 30,000

Pø»¨£õÍ›ß Fv¯® 7,000

•ßÝ›ø© Phß ÁÇ[S|ºPÒ 2,00,000

£õxPõ¨£ØÓ Phß ÁÇ[S|ºPÒ 7,00,000

•ßÝ›ø© £[SuõμºPÒ 1,00,000

£[S £[SuõμºPÒ 1,00,000

Or 

 (b) On 31.12.2003 X Ltd., acquired 80% equity shares of 
Y Ltd., The profit and loss a/c and General reserve 
balances as per balance sheet of Y Ltd., Prepare on 
31.12.2003 amounting to Rs. 6,80,000 and  
Rs. 1,44,000 respectively. On the date of acquisition 
of shares the assets of Y Ltd., were revalue and gain 
of Rs. 1,20,000 was found out. Calculate capital 
profits and revenue profits. 

   31.12.2003 AßÖ X ¼ªöhm, Y ¼ªöhmiß 80% 

DUÂmi £[SPøÍ Áõ[Q¯x. Y ¼ªöhm 
C¸¨¦{ø»U SÔ¨¤ß£i »õ£® ©ØÖ® |èh 
PnUS ©ØÖ® ö£õx C¸¨¦ {¾øÁPÒ •øÓ÷¯ 
31.12.2003 ¹. 6,80,000 ©ØÖ® ¹. 1,44,000 BS®. 

£[SPøÍ øP¯P¨£kzv¯ ÷uv°À Y ¼ªöhmiß 
ö\õzxUPÒ ©Ö©v¨¥k ö\´¯¨£mk ¹. 1,20,000 
»õ£® PshÔ¯¨£mhx. ‰»uÚ »õ£® ©ØÖ® 
Á¸Áõ´ »õ£zøuU PnUQk[PÒ. 
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14.  (a) Prepare profit and loss a/c for the year ended 31st 
March 2003 of NEW bank Ltd., from the following 
particulars. 

Particulars Rs. 
Interest on cash credits 1,60,000
Interest on loan 2,50,000
Interest on savings 1,50,000
Interest on fixed deposit 1,90,000
Interest on overdrafts 70,000
Payment to employees 1,50,000
Discount on bills discounted 40,000
Rent and taxes 5,000
Commission, exchange and brokerage 15,000
Audit fees 10,000
Director’s fees 20,000

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x {³ ÷£[U ¼ªöhmiß 
©õºa 31, 2003 AßÖ •iÁøh¢u BsiØPõÚ »õ£ 
|èhU PnUøPz u¯õ›UPÄ®. 

ÂÁμ[PÒ ¹. 

öμõUP ÁμÄPÐUPõÚ Ámi 1,60,000

Phß «uõÚ Ámi 2,50,000

÷\ª¨¦PÐUPõÚ Ámi 1,50,000

{ø»¯õÚ øÁ¨¦zöuõøPUPõÚ Ámi 1,90,000

KÁº iμõL¨mPÐUPõÚ Ámi 70,000

FÈ¯ºPÐUPõÚ öPõk¨£ÚÄ 1,50,000

uÒÐ£i ö\´¯¨£mh ¤ÀPÐUPõÚ uÒÐ£i 40,000

ÁõhøP ©ØÖ® Á›PÒ 5,000

Pªåß, £›©õØÓ® ©ØÖ® uμS 15,000

uoUøP Pmhn® 10,000

C¯US|›ß Pmhn® 20,000

Or 
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 (b) The revenue account of Ajantha life insurance 
company showed the life fund at Rs. 7,80,000  on 
31.3.2002 before taking into account the following 
items. 

  Claims intimated  but not admitted Rs. 80,250 

  Bonus utilised in reduction of premium Rs. 10,500 

  Interest accrued on investments Rs. 25,250 

  Outstanding premiums Rs. 20,000 

  Claims covered under re-insurance Rs. 35,000 

  Provision for taxation Rs. 19,500 

  Pass journal entries giving to the above adjustment 
and calculate the correct life fund. 

   Aá¢uõ B²Ò Põ¨¥mk {ÖÁÚzvß Á¸Áõ´ 
PnUS, ¤ßÁ¸® E¸¨£iPøÍU PnUQÀ 
GkzxUöPõÒÁuØS •ß¦, 31.3.2002 AßÖ B²Ò 
{v ¹. 7,80,000 GÚU Põmi¯x. 

  AÔÂUP¨£mhx BÚõÀ AÝ©vUP¨£hõu 
E›ø©÷PõμÀPÒ ¹. 80,250 

  ¤Ÿª¯U SøÓ¨¤À £¯ß£kzu¨£mh ÷£õÚì  
¹. 10,500 

  •u½kPÎÀ vμmh¨£mh Ámi ¹. 25,250 

  {¾øÁ°À EÒÍ ¤Ÿª¯[PÒ ¹. 20,000 

  ©ÖPõ¨¥miß RÌ EÒÍ E›ø©÷PõμÀPÒ ¹. 35,000 

  Á›Âv¨¦UPõÚ JxURk ¹. 19,500 

  ÷©ØPsh \›ö\´uø» |øh•øÓ¨£kzx® £õì 
áºÚÀ EÒÏkPÒ ©ØÖ® \›¯õÚ B²Ò {vø¯U 
PnUQk[PÒ. 

15.  (a) What are the advantages and disadvantages of 
IFRS? 

   IFRS Cß |ßø©PÒ ©ØÖ® wø©PÒ GßÚ? 

Or 
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 (b) Explain the importance of human resource 

accounting. 

   ©Ûu ÁÍ PnUQ¯¼ß •UQ¯zxÁzøu 
ÂÍUS[PÒ. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Write the difference between amalgamation and 

absorption. 

 P»øÁUS® EÔg_u¾US® EÒÍ ÷ÁÖ£õmøh 
GÊx[PÒ. 

17. From the following balance sheet of H Ltd., and S Ltd., 

prepare minority interest and consolidated balance sheet. 

 Balance sheet as on 31st March 2018 

Particulars Note No. H Ltd. S Ltd  

Equity and Liabilities      

Share capital - Rs. 10 each  5,00,000 2,00,000

Reserves and surplus  1,00,000 –

Trade payables  80,000 60,000

  6,80,000 2,60,000

Assets  

Fixed assets  5,60,000 2,60,000

Investment 60% shares in 

S Ltd. (at cost) 

 

1,20,000

  6,80,000 2,60,000
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 H Ltd., ©ØÖ® S Ltd., Cß ¤ßÁ¸® C¸¨¦{ø»U 

SÔ¨¤¼¸¢x ]Ö£õßø© Ámi ©ØÖ® J¸[Qøn¢u 
C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®.  

©õºa 31, 2018 {»Áμ¨£i C¸¨¦{ø»U SÔ¨ø£. 

ÂÁμ[PÒ SÔ¨¦ 

Gs 

Ga 

¼ªöhm

Gì 

¼ªöhm

£[S ©ØÖ® ö£õÖ¨¦PÒ     

£[S ‰»uÚ® & u»õ ¹. 10  5,00,000 2,00,000

C¸¨¦ ©ØÖ® E£›  1,00,000 –

ÁºzuP ö\¾zu ÷Ási¯øÁ  80,000 60,000

  6,80,000 2,60,000

ö\õzxUPÒ  

{ø»¯õÚ ö\õzxUPÒ  5,60,000 2,60,000

Gì ¼ªöhmiÀ 60% 
££[SPÎÀ •u½k (ö\»ÂÀ)

 

1,20,000

  6,80,000 2,60,000

18. Goodwill Co. Ltd Took over the assets Rs. 1,75,000 and 

liabilities of Rs. 15,000 of Raj and Co., for the purchase 

consideration of Rs. 1,65,000. Goodwill Co. Ltd., paid the 

purchase consideration by issuing debentures of Rs. 100 

each at a premium of 10%. Give journal entries. 

 SmÂÀ ÷Põ. ¼ªöhm, μõä Asm ÷PõÂß ¹. 1,75,000 
ö\õzxUPÒ ©ØÖ® ¹. 15,000 ö£õÖ¨¦PøÍ ¹. 1,65,000 
öPõÒ•uÀ £›^»øÚUS GkzxU öPõshx. SmÂì ÷Põ. 
¼ªöhm. 10% ¤Ÿª¯zvÀ JÆöÁõßÖ® ¹. 100 Phß 

£zvμ[PøÍ öÁÎ°mk öPõÒ•uÀ, £›^»øÚø¯ 
ö\¾zv¯x. £zv›øP EÒÏkPøÍ öPõk[PÒ. 
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19. From the following information relating to Lakshmi Bank 
Ltd., prepare the profit and loss a/c for the year ended 31st 
December 1987. 

Particulars Rs. Particulars Rs. 

Rent received 72,000 Salaries and allowances 2,18,800

Exchange and commission 32,800 Postage 5,600

Interest on fixed deposits 1,10,000 Sundry charges 4,000

Interest on savings bank a/c 2,72,000 Auditor’s fees 16,800

Interest on overdrafts 2,16,000 Printing 8,000

Discount on bills discounted 7,80,000 Law charges 3,600

Interest on current a/c 1,68,000 Locker rent 1,400

Interest on cash credits 8,92,000 Transfer fees 2,800

Depreciation on bank property 20,000 Interest on loans 10,36,000

 »m_ª Á[Q ¼ªöhm öuõhº£õÚ ¤ßÁ¸® 
uPÁÀPÎ¼¸¢x, i\®£º 31, 1987B® ÷uv²hß 
•iÁøh|u BsiØPõÚ »õ£ |èhU PnUøPz 
u¯õ›UPÄ®. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

ÁõhøP ö£Ó¨£mhx 72,000 \®£Í® ©ØÖ® öPõk¨£ÚÄPÒ 2,18,800

£›©õØÓ ©ØÖ® Pªåß 32,800 u£õÀ 5,600

{ø»¯õÚ øÁ¨¦z öuõøP «uõÚ Ámi1,10,000 £À÷ÁÖ Pmhn[PÒ 4,000

÷\ª¨¦ Á[Q PnUS «uõÚ Ámi 2,72,000 uoUøP¯õÍº Pmhn® 16,800

KÁº iμõL¨m «uõÚ Ámi 2,16,000 Aa]kuÀ 8,000

¤ÀPÒ «uõÚ uÒÐ£i 7,80,000 \mh Pmhn[PÒ 3,600

uÒÐ£i |h¨¦ PnUS «uõÚ Ámi 1,68,000 »õUPº ÁõhøP 1,400

öμõUP ÁμÄPÐUPõÚ Ámi 8,92,000 £›©õØÓ Pmhn[PÒ 2,800

Á[Q ö\õzx «uõÚ ÷u´©õÚ® 20,000 PhßPÐUPõÚ Ámi 10,36,000

20. Explain the methods of Human resource accounting. 

 ©Ûu ÁÍ PnUQ¯¼ß •øÓPøÍ ÂÍUS[PÒ. 

  

———————— 



  

D–8600     

DISTANCE EDUCATION 

COMMON FOR M.Com./M.Com.(F&C) DEGREE 
EXAMINATION, MAY 2025. 

Fourth Semester 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is management accounting? 

 ÷©»õsø© PnUQ¯À GßÓõÀ GßÚ? 

2. Enumerate the common size statement. 

 ö£õxÁõÚ AÍÄ AÔUøPø¯ £mi¯¼k[PÒ. 

3. Describe the trend analysis. 

 ÷£õUS £S¨£õ´øÁ ÂÁ›UPÄ®. 

4. What is solvency ratio? 

 Phß wºÄ ÂQu® GßÓõÀ GßÚ? 

5. What is fund from operation? 

 ö\¯À£õmiÀ C¸¢x {v GßÓõÀ GßÚ? 

6. Define cash flow statement. 

 £n¨¦ÇUP AÔUøPø¯ Áøμ¯ÖUPÄ®? 

Sub. Code 
31041/33541
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7. List out current liabilities. 

 |h¨¦ ö£õÖ¨¦PøÍ £mi¯¼k[PÒ. 

8. What do you mean by budget? 

 ÁμÄ ö\»Ä £mi¯À GßÓõÀ GßÚ? 

9. Define marginal costing. 

 ÂÎ®¦ ö\»øÁ Áøμ¯ÖUPÄ®. 

10. What is break-even point (BEP)? 

 \©{ø» CÇ¨¦ ¦ÒÎ (BEP) GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Explain the various tools of management 
accounting. 

   ÷©»õsø© PnUQ¯¼ß £À÷ÁÖ P¸ÂPøÍ 
ÂÍUSP. 

Or 

 (b) From the following profit and loss account calculate. 

  (i) Net profit ratio 

  (ii) administrative expenses ratio 

Particulars Rs. Particulars Rs. 

To administrative exp. 1,600 By gross profit 2,500

To selling expenses 300  

To finance expenses 100  

To net profit 500  

 2,500  2,500
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  ¤ßÁ¸® »õ£ |èhU PnUQ¼¸¢x PnUQk[PÒ. 

  (i) {Pμ »õ£ ÂQu® 

  (ii) {ºÁõPa ö\»Ä ÂQu® 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

{ºÁõP ö\»ÄPÒ 1,600 ö©õzu »õ£® 2,500

ÂØ£øÚ ö\»ÄPÒ 300  

{v ö\»ÄPÒ 100  

{Pμ »õ£® 500  

 2,500  2,500

12. (a) How will you classify the accounting ratios? 

   PnUQ¯À ÂQu[PøÍ GÆÁõÖ ÁøP¨£kzxÃºPÒ? 

Or 

 (b) The following details are extracted from the annual 
report of Adhavan & Co., prepare a common - size 
income statement for the purpose of comparison. 

 2019 2020 2021

Cost of material 200 250 150

Labour cost 175 150 200

Other conversion costs 175 140 150

Total manufacturing cost of goods sold 550 540 500

Sales revenue 950 1000 1200

Gross profit 400 460 700

Operating expenses 180 200 300

Profit 220 260 400

   ¤ßÁ¸® ÂÁμ[PÒ v¸. BuÁß & ÷Põ.Âß 
Á¸hõ¢vμ AÔUøP°¼¸¢x GkUP¨£mhøÁ, 
J¨¤kÁuØPõP ö£õx AÍÄ Á¸©õÚ AÔUøPø¯z 
u¯õ›UPÄ®. 
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 2019 2020 2021

ö£õ¸Ò ö\»Ä 200 250 150

EøÇ¨¦ ö\»Ä 175 150 200

¤Ó ©ØÓ ö\»ÄPÒ 175 140 150

ö£õ¸mPÎß ö©õzu EØ£zv ö\»Ä 550 540 500

ÂØ£øÚ Á¸Áõ´ 950 1000 1200

ö©õzu C»õ£® 400 460 700

C¯UP ö\»ÄPÒ 180 200 300

C»õ£® 220 260 400

13.  (a) Distinguish between fund flow statement and 
income statement. 

   {v Kmh AÔUøP ©ØÖ® Á¸©õÚ AÔUøPUS 
Cøh÷¯ EÒÍ ÷ÁÖ£õmøh TÖP.  

Or 

 (b) From the following information calculate 

  (i) Break-even point 

  (ii) Sales required to earn a profit of Rs.10,000 

   Sales   Rs. 30,000 

   Variable expenses Rs. 14,000 

   Fixed expenses Rs. 13,000 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x PnUQk[PÒ. 

  (i) \©{ø»¨ ¦ÒÎ 

  (ii) ¹. 10,000 »õ£® Dmhz ÷uøÁ¯õÚ ÂØ£øÚ 

   ÂØ£øÚ ¹. 30,000 

   ©õÖ£k® ö\»ÄPÒ ¹. 14,000 

   {ø»¯õÚ ö\»ÄPÒ ¹. 13,000 
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14.  (a) What are the main objectives of budgetary control? 

   ÁμÄ ö\»Ä £mi¯À Pmk¨£õmiß •UQ¯ 
÷|õUP[PÒ GßÚ? 

Or 

 (b) From the following profit and loss account calculate 
funds from operations. 

 Trading and profit and loss account 

Dr.   Cr.

Particulars Rs. Particulars Rs. 

To rent 35,000 By gross profit 9,86,000

To depreciation 3,000  

To share discount 10,000  

To goodwill 5,000  

To preliminary expenses 6,000  

To net profit 9,27,000  

 9,86,000  9,86,000

   ¤ßÁ¸® »õ£ |èhU PnUQ¼¸¢x ö\¯À£õmk 
{vø¯U PnUQk[PÒ. 

 Â¯õ£õμ ©ØÖ® »õ£ |èhU PnUS 

£ØÖ   ÁμÄ

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

ÁõhøP 35,000ö©õzu »õ£®9,86,000

÷u´©õÚ® 3,000  

£[S uÒÐ£i 10,000  

|Øö£¯º 5,000  

Ai¨£øh ö\»ÄPÒ 6,000  

{Pμ »õ£® 9,27,000  

 9,86,000  9,86,000
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15.  (a) A factory is presently working at 50% capacity and 
incurs the following expenditure. 

 Rs. 

Materials 1,50,000

Wages 70,000

Fixed overheads 80,000

Variable overheads 20,000

Semi-variable overheads (60% fixed) 30,000

  Prepare a flexible budget for 75% and 100%. 

   J¸ öuõÈØ\õø» uØ÷£õx 50% vÓÛÀ C¯[SQÓx 
©ØÖ® ¤ßÁ¸® ö\»ÄPøÍa ö\´QÓx. 

 ¹. 

ö£õ¸mPÒ 1,50,000

T¼ 70,000

{ø»¯õÚ ÷©Øö\»ÄPÒ 80,000

©õÖ£k® ÷©Øö\»ÄPÒ 20,000

£Sv & ©õÖ£k® ÷©Øö\»ÄPÒ (60% {ø»¯õÚx) 30,000

  75% ©ØÖ® 100%US›¯ ö|QÌÁõÚ ÁμÄ ö\»Ä 
£mi¯À u¯õ›UPÄ®. 

Or 

 (b) Calculate cash flow from operating activities : 

 Rs. 

Total sales for the year 10,00,000

Total purchases for the year 6,50,000

Commission received during the year 10,000

Office expenses for the year 15,000

Administrative expenses for the year 20,000

Income tax paid during the year 12,000
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   ö\¯À£õmk |hÁiUøPPÎ¼¸¢x £n¨¦ÇUPzøuU 
PnUQk[PÒ. 

 ¹. 

BskUPõÚ ö©õzu ÂØ£øÚ 10,00,000

BskUPõÚ ö©õzu öPõÒ•uÀ 6,50,000

BsiÀ ö£Ó¨£mh Pªåß 10,000

BskUPõÚ A¾Á»P ö\»ÄPÒ 15,000

BskUPõÚ {ºÁõP ö\»ÄPÒ 20,000

BsiÀ ö\»zu¨£mh Á¸©õÚ Á› 12,000

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Distinguish between management accounting and cost 
accounting. 

 ÷©»õsø© PnUQ¯À ©ØÖ® AhUPÂø» PnUQ¯À 
BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

17. From the following information prepare a balance sheet 
with as many details as possible. 

Current ratio 1.75 

Liquid ratio 1.25 

Stock turnover ratio (closing stock) 9 times 

Gross profit ratio 25% 

Average collection period 1½ months 

General reserves to Share capital 0.20 

Cost of goods sold to fixed assets 1.2 

Capital Gearing Ratio 0.6 

Fixed assets to net worth 1.25 

Sales Rs. 12,00,000
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x •i¢uÁøμ £» ÂÁμ[PÐhß 
J¸ C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®.  

uØ÷£õøu¯ ÂQu® 1.75 

vμÁ ÂQu® 1.25 

\μUS Á¸Áõ´ ÂQu® (CÖv \μUS) 9 ©h[S 

ö©õzu C»õ£ ÂQu® 25% 

\μõ\› Á`À Põ»® 1½ 
©õu[PÒ 

£[S ‰»uÚzvØPõÚ ö£õx C¸¨¦UPÒ 0.20 

{ø»¯õÚ ö\õzxUPÐUS ÂØP¨£k® ö£õ¸mPÎß 
Âø» 

1.2 

‰»uÚ¨ £ØÖ ÂQu® 0.6 

{ø»¯õÚ ö\õzxUPÒ •uÀ {Pμ ©v¨¦ 1.25 

ÂØ£øÚ ¹. 2,00,000

18. Prepare a cash budget from the following information for 
the three months commencing 1st April 2021. On which 
date the cash balance was Rs. 50,000. 

Month Purchases Sales Expenses

February 40,000 80,000 7,200

March 45,000 85,000 7,500

April 38,000 78,000 8,000

May 42,000 84,000 9,000

June 50,000 95,000 10,500

 Additional information : 

 (a) Suppliers supply goods at 2 months credit 

 (b) Debtors are given 1 month credit 

 (c) 20% of sales constitute cash sales 

 (d) Expenses are paid in the month following. 
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 ¤ßÁ¸® uPÁÀPÎ¼¸¢x H¨μÀ 1, 2021 •uÀ ‰ßÖ 
©õu[PÐUS J¸ öμõUP £möámøhz u¯õ›UPÄ®. 
A¢|õÎÀ öμõUP C¸¨¦ ¹. 50,000BP C¸¢ux.  

©õu[PÒ öPõÒ•uÀ ÂØ£øÚ ö\»ÄPÒ

¤¨μÁ› 40,000 80,000 7,200

©õºa 45,000 85,000 7,500

H¨μÀ 38,000 78,000 8,000

÷© 42,000 84,000 9,000

áüß 50,000 95,000 10,500

 TkuÀ uPÁÀ : 

 (A) \¨øÍ¯ºPÒ 2 ©õu PhÛÀ ö£õ¸mPøÍ 
ÁÇ[SQÓõºPÒ 

 (B) PhÚõÎPÐUS 1 ©õu Phß ÁÇ[P¨£kQÓx 

 (C) ÂØ£øÚ°À 20% öμõUP ÂØ£øÚ¯õS® 

 (D) ö\»ÄPÒ Akzu ©õuzvÀ ö\¾zu¨£k®. 

19. A company has prepared the following estimates for the 
year 2020-2021. 

Sales 15,000 units 

Fixed expenses Rs. 34,000 

Sales Rs. 1,50,000 

Variable costs Rs. 6 per unit

 You are required to : 

 (a) Find out the P/V ratio, break-even point and margin 
of safety 

 (b) Calculate the revised P/V ratio, break-even point 
and margin of safety in each of the following cases : 

  (i) Decrease 10% in selling price 

  (ii) Increase 10% in variable cost 

  (iii) Increase of sales volume by 2,000 units 

  (iv) Increase of Rs. 6,000 in fixed costs. 
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 J¸ {ÖÁÚ® 2020&2021B® BsiØPõÚ ¤ßÁ¸® 
©v¨¥kPøÍz u¯õ›zxÒÍx. 

ÂØ£øÚ 15,000 A»SPÒ

{ø»¯õÚ ö\»ÄPÒ ¹. 34,000 

ÂØ£øÚ ¹. 1,50,000 

©õÖ® ö\»ÄPÒ ³ÛmkUS ¹. 6  

 }[PÒ ö\´¯ ÷Ási¯x 

 (A) P/V ÂQu®, •ÔÄ \© ¦ÒÎ ©ØÖ® £õxPõ¨¤ß 
ÂÎ®¦ BQ¯ÁØøÓU PshÔ¯Ä® 

 (B) ¤ßÁ¸® JÆöÁõ¸ {PÌÂ¾® v¸zu¨£mh P/V 
ÂQu®, •ÔÄ \© ¦ÒÎ ©ØÖ® £õxPõ¨¤ß ÂÎ®¦ 
BQ¯ÁØøÓU PnUQhÄ®. 

  (i) ÂØ£øÚ Âø»°À 10% SøÓzuÀ 

  (ii) ©õÖ® ö\»ÂÀ 10% AvP›¨¦ 

  (iii) ÂØ£øÚ AÍøÁ 2,000 ³ÛmPÒ AvP›zuÀ 

  (iv) {ø»¯õÚ ö\»ÄPÎÀ ¹. 6,000 AvP›¨¦. 

20. Distinguish between standard cost and estimated cost. 

 {ø»¯õÚ ö\»Ä ©ØÖ® ©v¨¤h¨£mh ö\»Ä 
BQ¯ÁØøÓ  ÷ÁÖ£kzxP. 

 

 

  

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define services. 

 ÷\øÁPøÍ Áøμ¯ÖUPÄ®. 

2. What is the concept of service marketing? 

 ÷\øÁ \¢øu¨£kzuÀ GßÓõÀ GßÚ? 

3. What are the key factors to consider when designing a 
service process? 

 ÷\øÁ ö\¯À•øÓø¯ ÁiÁø©US®÷£õx P¸zvÀ 
öPõÒÍ ÷Ási¯ •UQ¯ PõμoPÒ ¯õøÁ? 

4. State any two characteristics of the service marketing 
mix. 

 ÷\øÁ \¢øu¨£kzuÀ Pø»øÁ°ß H÷uÝ® Cμsk 
£s¦PøÍU SÔ¨¤kP. 

5. Define the term price. 

 Âø» GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 
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6. Infer the term “Service promotion”. 

 ‘‘÷\øÁ ÷©®£õk’’ GßÓ ö\õÀø» FQUPÄ®. 

7. Write any two factors should be considered when 
choosing a service location. 

 ÷\øÁ Chzøuz ÷uº¢öukUS®÷£õx P¸zvÀ öPõÒÍ 
÷Ási¯ H÷uÝ® Cμsk PõμoPøÍ GÊxP. 

8. List any two role of people in the service marketing mix. 
 ÷\øÁ \¢øu¨£kzuÀ P»øÁ°À ©UPÎß H÷uÝ® 

Cμsk £[SPøÍ £mi¯¼kP. 

9. State any two objectives of internal marketing. 
 EÒ \¢øu¨£kzu¼ß H÷uÝ® Cμsk ÷|õUP[PøÍU 

SÔ¨¤kP. 

10. Write any two services marketing for banking services. 
 Á[Qa ÷\øÁPÐUPõÚ H÷uÝ® Cμsk ÷\øÁ 

\¢øu¨£kzuÀPøÍ GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Explain the classification of services. 
   ÷\øÁPÎß ÁøP¨£õmøh ÂÍUS[PÒ. 

Or 

 (b) Explain the significance of service marketing. 
   ÷\øÁ \¢øu¨£kzu¼ß •UQ¯zxÁzøu 

ÂÍUS[PÒ. 

12.  (a) State the service marketing system. 
   ÷\øÁ \¢øu¨£kzuÀ •øÓø¯U TÖP[PÒ. 

Or 

 (b) What is the objectives of sales promotion? 
   ÂØ£øÚ ÷©®£õmiß ÷|õUP[PÒ GßÚ? 
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13.  (a) Explain the core service level and its importance in 
the service offer. 

   ÷\øÁ ÁÇ[P¼À •UQ¯ ÷\øÁ {ø» ©ØÖ® Auß 
•UQ¯zxÁzøu ÂÍUSP. 

Or 

 (b) List out the characteristics of services and how they 
influence pricing decisions. 

   ÷\øÁPÎß ]Ó¨¤¯À¦PøÍ²® AøÁ Âø» 
{ºn¯ •iÄPÎÀ GÆÁõÖ ö\ÀÁõUS 
ö\¾zxQßÓÚ Gß£øu²® £mi¯¼kP. 

14.  (a) Discuss the steps involved in the advertising 
process. 

   ÂÍ®£μ¨£kzu¼À EÒÍ £iPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

Or 

 (b) Explain the concept of franchising in service 
distribution. 

   ÷\øÁ Â{÷¯õPzvÀ E›ø©¯Î¨¦ GßÓ P¸zøu 
ÂÍUSP. 

15.  (a) What are the key components of internal 
marketing? 

   EÒ \|øu¨£kzu¼ß •UQ¯ TÖPÒ ¯õøÁ? 

Or 

 (b) Explain the role of service quality in hotel services. 

   ÷íõmhÀ ÷\øÁPÎÀ ÷\øÁ uμzvß £[øP 
ÂÍUSP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. What is service mapping, and how is it used in service 
design? 

 ÷\øÁ £h©õUPÀ GßÓõÀ GßÚ? Ax ÷\øÁ 
ÁiÁø©¨¤À GÆÁõÖ £¯ß£kzu¨£kQÓx? 

17. Explain about quality management in service products 
and why is it critical? 

 ÷\øÁ u¯õ›¨¦PÎÀ uμ ÷©»õsø© ©ØÖ® Auß 
•UQ¯zxÁzøu ÂÍUSP. 

18. Discuss the role of frontline employees in service 
marketing. 

 ÷\øÁ \¢øu¨£kzu¼À •ßÚo FÈ¯ºPÎß £[øP¨ 
£ØÔ ÂÁõvUPÄ®. 

19. Describe the objectives of Customer Relationship 
Management (CRM). 

 ÁõiUøP¯õÍº EÓÄ ÷©»õsø©°ß (CRM) ÷|õUP[PøÍ 
ÂÁ›UPÄ®. 

20. Discuss the scope of service quality in healthcare services 
and the tools used to achieve it. 

 _Põuõμ ÷\øÁPÎÀ, ÷\øÁ uμzvß ÷|õUP® ©ØÖ® Aøu 
Aøh¯¨ ¤ß£ØÓ¨£k® öPõÒøPPøÍ ÂÁõvUPÄ®. 

 

 

  

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define organizational behaviour. 

 {ÖÁÚ |hzøu Gß£uß Áøμ¯øÓ GßÚ? 

2. What are the key elements of organizational behaviour? 

 {ÖÁÚ |hzøu°ß •UQ¯ TÖPÒ ¯õøÁ? 

3. Define perception. 

 P¸zxnºÄ GßÓõÀ GßÚ? 

4. What are personality traits? 

 £s¤¯À GßÓõÀ GßÚ? 

5. Mention two types of values. 

 Cμsk Âu©õÚ ©v¨¦PÒ GøÁ? 

6. What is stress counseling? 

 ©Ú AÊzu B÷»õ\øÚ GßÓõÀ GßÚ? 
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7. What are the sources of organizational politics? 

 {ÖÁÚ Aμ]¯¼ß ‰»[PøÍ SÔ¨¤hÄ®. 

8. What are the determinants of organizational climate? 

 {ÖÁÚ Põ»{ø» {ºn°PøÍ SÔ¨¤hÄ®. 

9. Mention two types of emotions. 

 Cμsk Âu©õÚ EnºÄPøÍ SÔ¨¤hÄ®. 

10. Define communication. 

 uPÁÀ öuõhº¦ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Discuss the importance of organizational behaviour. 

   {ÖÁÚ |hzøu°ß •UQ¯zxÁzøu ÂÁ›. 

Or 

 (b) What are the factors influencing individual 
behaviour? 

   uÛ|£º |hzøuø¯ £õvUS® PõμoPÒ ¯õøÁ? 

12.  (a) Explain the process of perception. 

   P¸zxnºÄ {PÌÄ G¨£i ö\¯À£kQÓx? 

Or 

 (b) Discuss the functions of attitude. 

   ©Ú¨£õ[Qß ö\¯À£õkPÒ GßÚ? 

13.  (a) What are the different types of groups in an 
organization? 

   {ÖÁÚzvÀ EÒÍ SÊ ÁøPPÒ ¯õøÁ? 

Or 



D–8602 
  3

 (b) Discuss the role of stress in workplace performance. 

   £o°h ö\¯ÀvÓøÚ ©Ú AÊzu® GÆÁõÖ 
£õvUQÓx? 

14.  (a) What are the objectives of organizational 
development? 

   {ÖÁÚ ÁÍºa]°ß ÷|õUP[PøÍ ÂÍUPÄ®. 

Or 

 (b) How does changing organizational culture impact 
performance? 

   {ÖÁÚ £s£õmiÀ ©õØÓ® {ÖÁÚ ö\¯ÀvÓøÚ 
GÆÁõÖ £õvUQÓx? 

15.  (a) What are the advantages and limitations of 
emotional intelligence? 

   Enºa] ~snÔÂß |ßø©PÒ ©ØÖ® 
SøÓ£õkPøÍ ÂÍUPÄ®. 

Or 

 (b) State the importance of knowledge management. 

   AÔÄ ÷©»õsø©°À •UQ¯zxÁ® GßÚ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the characteristics and importance of human 
behaviour in an organization. 

 {ÖÁÚzvÀ ©Ûu |hzøu°ß £s¦PÒ ©ØÖ® 
•UQ¯zxÁzøu ÂÍUSP. 

17. Explain in detail the personality theories and their 
impact on behaviour. 

 £s¤¯À ÷Põm£õkPÒ ©ØÖ® AøÁ |hzøu°À 
HØ£kzx® uõUP[PøÍ ÂÍUSP. 
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18. Discuss the different stages of group development with 
examples. 

 SÊ E¸ÁõUPzvß £À÷ÁÖ Pmh[PøÍ 
GkzxUPõmkPÐhß ÂÁ›. 

19. Discuss the measures to cope with stress in an 
organization. 

 {ÖÁÚzvÀ ©Ú AÊzuzøu \©õÎUP ÷uøÁ¯õÚ 
|hÁiUøPPøÍ ÂÁ›. 

20. Describe the different types and functions of 
communication in an organization. 

 {ÖÁÚzvÀ uPÁÀ öuõhº¦ ÁøPPÒ ©ØÖ® 
ö\¯À£õkPøÍ ÂÁ›UPÄ®. 

 

 

  

———————— 



  

D–8603     

DISTANCE EDUCATION 
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Fourth Semester 

RETAIL AND DISTRIBUTION MANAGEMENT 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define retailing. 

 ]À»øÓ ÁoPzøu Áøμ¯ÖUPÄ®. 

2. Name two methods of customer interaction in retailing. 

 ]À»øÓ ÂØ£øÚ°À ÁõiUøP¯õÍº öuõhº¦ öPõÒÐ® 
Cμsk •øÓPøÍU SÔ¨¤kP. 

3. Define the term consumer behavior. 

 ~Pº÷Áõº |hzøu GßÓ Áõºøuø¯ Áø¯μÖUPÄ®. 

4. Name two types of consumer decisions. 

 Cμsk ÁøP¯õÚ ~Pº÷Áõº •iÄPøÍU TÖP. 

5. What is a retail location strategy? 

 ]À»øÓ ÂØ£øÚ ø©¯ Ezv GßÓõÀ GßÚ? 

6. What is merchandise management in retailing? 

 ]À»øÓ ÁoPzvÀ ÁoP¨ ö£õ¸mPÒ ÷©»õsø© 
GßÓõÀ GßÚ? 
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7. Infer the term marketing. 

 \¢øu¨£kzxuÀ GßÓ ö\õÀø» FQUPÄ®. 

8. Who are the primary participants in a marketing 
channel? 

 \¢øu¨£kzxuÀ •øÓ°À •ußø© £[÷PØ£õÍºPÒ 
¯õº? 

9. Define supply chain management. 

 Â{÷¯õPa \[Q¼ ÷©»õsø©ø¯ Áøμ¯ÖUPÄ®. 

10. What is franchise? 

 ÂØ£øÚ E›ø© •øÓø© GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Explain the role of services in retailing. 

   ]À»øÓ ÁoPzvÀ ÷\øÁPÎß £[øP ÂÍUSP. 

Or 

 (b) Explain the changing structure of retailing. 

   ]À»øÓ ÁoPzvß ©õÔÁ¸® Pmhø©¨ø£ 
ÂÍUSP. 

12.  (a) Explain the stages of the consumer decision-making 
process. 

   ~Pº÷Áõº •iöÁkUS® ö\¯À•øÓ°ß {ø»PøÍ 
ÂÍUSP. 

Or 

 (b) List out the importance of location decision in retail. 

   ]À»øÓ ÂØ£øÚ°À ÂØ£øÚ ø©¯zøu 
wº©õÛ¨£uß •UQ¯zxÁzøu £mi¯¼kP. 
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13.  (a) Explain the types of suppliers in retailing. 

   ]À»øÓ ÁoPzvÀ ÁÇ[S|ºPÎß ÁøPPøÍ 
ÂÍUS[PÒ. 

Or 

 (b) What are the factors in selecting an advertising 
media for retail promotion? 

   ]À»øÓ ÂØ£øÚ ÂÍ®£μzvØPõÚ ÂÍ®£μ 
FhPzøuz ÷uº¢öuk¨£øu wº©õÛUS® PõμoPÒ 
¯õøÁ? 

14.  (a) Discuss Techniques to overcome marketing channel 
conflicts. 

   \¢øu¨£kzuÀ ÁÈ•øÓ ÷©õuÀPøÍa 
\©õÎ¨£uØPõÚ ~m£[PøÍ¨ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Discuss the importance of Transportation in 
Logistics Management. 

   uÍÁõh ÷©»õsø©°À ÷£õUSÁμzvß 
•UQ¯zxÁzøu¨ £ØÔ ÂÁõvUPPÄ®. 

15.  (a) Explain the importance of a franchisee in channel 
decisions. 

   \¢øu¨£kzx® •øÓ SÔzu •iÄ Gk¨£vÀ 
ÂØ£øÚ E›ø© •øÓø¯ ö£ØÓÁ›ß 
•UQ¯zxÁzøu ÂÍUS[P. 

Or 

 (b) Describe the process of appointing a franchisee. 

   ÂØ£øÚ E›ø© •øÓø©¯õÍøμ {¯ªUS® 
ö\¯À•øÓø¯ ÂÁ›UPÄ®. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the key trends retail strategy. 

 ]À»øÓ ÁoP EzvPÎÀ EÒÍ •UQ¯ ÷£õUSPøÍ 
ÂÁ›UPÄ®. 

17. Describe the kinds of markets and market segmentation 
in India. 

 C¢v¯õÂÀ EÒÍ \¢øuPÎß ÁøPPÒ ©ØÖ® 
\¢øu¨¤›ÄPøÍ ÂÁ›UPÄ®. 

18. Describe the role of price elasticity in retail pricing. 

 ]À»øÓ ÂØ£øÚ Âø» {ºn¯zvÀ Âø» ö|QÌa]z 
ußø©°ß £[øP ÂÁ›UPÄ®. 

19. Explain the various types of warehousing. 

 \μUS Qh[SPÎß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

20. Explain the merits and demerits of franchise business. 

 ÂØ£øÚ E›ø© •øÓø© ÁoPzvß |ßø©PÒ ©ØÖ® 
wø©PÒ £ØÔ ÂÍUSP. 
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